
V1

2021 CATALOGUE
PTO Shafts

www.fastparts.ie © Copyright 2020 Fastparts.ie. All rights reserved.

4



MAY 2021

Contents
AW10 - Cross 22x54.6
Components  �  2, 3
PTO Shafts & Safety Guards�  4, 5

AW11 - Cross 27x70
Components �  6
Safety Guards  7

AW20 - Cross 24x61
Components �  8, 9, 10
PTO Shafts & Safety Guards  11

AW21 - Cross 27x74.6
Components  12, 13, 14, 15
PTO Shafts & Safety Guards  16

AW12 - Cross 34x90
Components & Safety Guards �  17, 18 

AW22 - Cross 30.2x92
Components & Safety Guards  

 19, 20, 21

AW35 - Cross 32x76
Components �  22, 23, 24, 25, 26
PTO Shafts & Safety Guards �  27, 28

AW24 - Cross 34.9x106.3
Components �  29, 30, 31
PTO Shafts & Safety Guards  31

AW36 - Cross 36x89
Components   32, 33, 34, 35, 36
PTO Shafts �  37
Safety Guards & Bearing Rings  38
PTO Shafts & Safety Guards Wide 
Angle �  39

AW26 - Cross 42x104
Components  �  40
Components  & Safety Guards  41

AB1 - Cross 22x54
Components & Safety Guards  42

AB2 - Cross 23.6x61
Components �  43, 44
PTO Shafts & Safety Guards  45

AB3 - Cross 27x70
Components �  46
Components & Safety Guards  47

AB4 - Cross 27x74.6
Components  �  48, 49, 50, 51
PTO Shafts  �  52
Safety Guards  53

AB5 - Cross 30.2x79.4
Components  �  54, 55, 56
PTO Shafts & Safety Guards   57

AB6 - Cross 30.2x92
Components   58, 59, 60, 61, 62
PTO Shafts �  63
Safety Guards & Bearing Rings  64

AB7 (Old) - Cross 30.2x106.3
Components  �  65
PTO Shafts & Safety Guards  66

AB7 (New) - Cross 34.9x94
Components  �  67
Safety Guards  68

AB8 - Cross 35x106
Components  �  69, 70, 71, 72
PTO Shafts  �  73
Safety Guards  74

AB9 - Cross 41x108
Components  �  75
Safety Guards  76

AB10 - Cross 41x118
Components & Safety Guards  77

Bondioli & Pavesi
Original Items  78

Walterscheid
Original Items  79

Repair Items - All Brands
For End Yokes �  80
For Clutches�  81, 82
Safety Cones �  83
Roll Pins for Tubing  84

Brand Specific Items
Abbey, Belmac, Bredal,Claas  85
Conor, Cross, Deutz Fahr, 
Doda, Fransgard, Hardi,
Hi-Spec, Howard, JF Stoll �  86
John Deere, Kuhn  87, 88
Keenan, Kverneland (Taarup), Lely 

 89
Major, McHale, PZ, Rauch �  90
Redrock, Sulky, Taarup, Vicon  91
Vicon, Welger �  92

Complete PTO Shafts 
Technical Data �  93
PTO Shafts - Lemon Tube 

94, 95, 96, 97, 98 
PTO Shafts - Star Tube 

 98, 99, 100, 101
PTO Shafts - Triangle Tube

 102, 103, 104, 105, 106, 107, 108

Safety Guards & Bearing Kits
Benzi, Fastparts  
Weasler 

 109
 110



Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 2

Components 

1 AW10 - Cross 22x54.6

No. Description OEM Ref / Size Additional Information

1 FP16005 Cross  22x54.8 10.01.00 Standard Lubrication 8 hours

2 FP16260 Quick Release Yoke 10.10.00 1.3/8 inch - 6 Spline

3 FP16415 Yoke - Inner Tube 10.48.00 Lemon Tube:23.8 X 5

4 FP16420 Yoke - Outer Tube 10.49.00 Lemon Tube:30 X 3

5 795.0855 Roll Pin 8x55 - -

6 FP16261 Quick Release Yoke 10.50.00 1.3/8 inch - 21 Spline

7 FP16780 Lemon Tube:23.8 X 5 OOA Inner

8 FP16785 Lemon Tube:30 X 3 OA Outer

9 FP16580 Round Bore Yoke End - 25mm, 8mm Key, M10 Grub Screw

10 420.010330 Round Bore Yoke End 10.22.33 30mm, 8mm Key, M12 Grub Screw

11 520.10001 Inner Joint Complete - Lemon Tube:23.8 X 5

12 520.10002 Outer Joint Complete - Lemon Tube:30 X 3

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16260FP16005 FP16415 FP16420

795.0855 FP16261 FP16780 FP16785

FP16580 420.010330 520.10001 520.10002

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16005
https://www.fastparts.ie/PTO///FP16260
https://www.fastparts.ie/PTO///FP16415
https://www.fastparts.ie/PTO///FP16420
https://www.fastparts.ie/PTO///795.0855
https://www.fastparts.ie/PTO///FP16261
https://www.fastparts.ie/PTO///FP16780
https://www.fastparts.ie/PTO///FP16785
https://www.fastparts.ie/PTO///FP16580
https://www.fastparts.ie/PTO///420.010330
https://www.fastparts.ie/PTO///520.10001
https://www.fastparts.ie/PTO///520.10002


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 3

Components

1 AW10 - Cross 22x54.6 (Continued)

No. Description OEM Ref / Size Additional Information

1 420.010901 Flange Yoke - Shearbolt 10.17.100 Amazone Twin Disc Spreaders

2 FP16400 Flange Yoke - Vicon Spreader- Old Style

3 FP16405 Flange Yoke - Vicon Spreader- New Style 30mm

4 FP16260T Quick Release Yoke End - 1.3/8 inch - 6 Spline

5 FP16120T Flange Yoke  - Amazone Shearbolt - * Suitable for FP16920T Only *

6 FP16400T Flange Yoke  - Vicon Spreader Rubber Drive

7 FP16405T Round Bore Yoke End  - Vicon Spreader Round Bore 30mm

8 FP16135T Round Bore Yoke - Rauch Spreader Round Bore 30mm

9 FP16136T Overrun Clutch  RH - 1.3/8 inch - 6 Spline

10 FP16909Y Round Bore Yoke End - 25mm / Key 8mm

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16400420.010901 FP16405 FP16260T

FP16120T FP16400T FP16405T FP16135T

FP16136T FP16909Y

NEW
NEW

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///420.010901
https://www.fastparts.ie/PTO///FP16400
https://www.fastparts.ie/PTO///FP16405
https://www.fastparts.ie/PTO///FP16260T
https://www.fastparts.ie/PTO///FP16120T
https://www.fastparts.ie/PTO///FP16400T
https://www.fastparts.ie/PTO///FP16405T
https://www.fastparts.ie/PTO///FP16135T
https://www.fastparts.ie/PTO///FP16136T
https://www.fastparts.ie/PTO///FP16909Y


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 4

PTO Shafts

1 AW10 - Cross 22x54.6 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16908 PTO Shaft - Standard  610mm 1.3/8 inch - 6S | 1.3/8 inch - 6S

2 FP16908T PTO Shaft - Standard 610mm 1.3/8 inch - 6S | 1.3/8 inch - 6S

3 FP16908TL PTO Shaft - Standard 800mm 1.3/8 inch - 6S | 1.3/8 inch - 6S

4 FP16910 PTO Shaft - Standard  860mm 1.3/8 inch - 6S | 1.3/8 inch - 6S

5 FP16915B PTO Shaft - Standard  1210mm 1.3/8 inch - 6S | 1.3/8 inch - 6S

6 FP16903 PTO Shaft - Vicon Spreader 610mm 1.3/8 inch - 6S | Round Bore 30mm

7 FP16903T PTO Shaft - Vicon Spreader 610mm 1.3/8 inch - 6S | Round Bore 30mm

8 FP16900T PTO Shaft - Vicon Spreader 560mm 1.3/8 inch - 6S | Flange Yoke

9 FP16910T PTO Shaft - Pressure Washer 800mm 1.3/8 inch - 6S | Round Bore 24mm

10 FP16909T PTO Shaft - Sulky Spreader 800mm 1.3/8 inch - 6S | Round Bore 25mm

11 FP16920T PTO Shaft - Amazone ZAF/ZAX 1210mm 1.3/8 inch - 6S | Round Bore 30mm

12 FP16930T PTO Shaft - Rauch Spreader 1010mm 1.3/8 inch - 6S | Round Bore 30mm

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16908TFP16908 FP16908TL FP16910

FP16915B FP16903 FP16903T FP16900T

FP16910T FP16909T FP16920T FP16930T

NEW

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16908
https://www.fastparts.ie/PTO///FP16908T
https://www.fastparts.ie/PTO///FP16908TL
https://www.fastparts.ie/PTO///FP16910
https://www.fastparts.ie/PTO///FP16915B
https://www.fastparts.ie/PTO///FP16903
https://www.fastparts.ie/PTO///FP16903T
https://www.fastparts.ie/PTO///FP16900T
https://www.fastparts.ie/PTO///FP16910T
https://www.fastparts.ie/PTO///FP16909T
https://www.fastparts.ie/PTO///FP16920T
https://www.fastparts.ie/PTO///FP16930T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 5

Safety Guards 

1 AW10 - Cross 22x54.6 (Continued)

No. Description OEM Ref / Size Additional Information

1 904-1000-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

2 904-1000-101 Safety Guard C/W Bearing Rings 1010mm EasyLock Quick Fit System

3 321.105 Bearing Kit For Safety Guard - EasyLock Quick Fit System

4 FP16998 Chain For Safety Guard - Universal

5 FP16908G Safety Guard C/W Bearing Rings 800mm Fastparts

6 FP16908GB Bearing Ring Set 47mm x 1, 40mm x 1 Fastparts

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

904-1000-101904-1000-086 321.105 FP16998

FP16908G FP16908GB

1211109

8765

4321

https://www.fastparts.ie/PTO///904-1000-086
https://www.fastparts.ie/PTO///904-1000-101
https://www.fastparts.ie/PTO///321.105
https://www.fastparts.ie/PTO///FP16998
https://www.fastparts.ie/PTO///FP16908G
https://www.fastparts.ie/PTO///FP16908GB


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 6

Components

2 AW11 - Cross 27x70

No. Description OEM Ref / Size Additional Information

1 FP16015 Cross  27x70 11.03.00 Standard Lubrication 8 hours

2 FP16270 Quick Release Yoke End 11.10.00 1.3/8 inch - 6 Spline

3 FP16435 Yoke - Inner Tube 11.38.00 Lemon Tube:34.5 X 3

4 FP16440 Yoke - Outer Tube 11.39.00 Lemon Tube:41.3 X 3

5 647.311 Cross  27x70 11.03.00 Extended Lubrication Intervals

6 FP16271 Quick Release Yoke End 11.50.00 1.3/8 inch - 21 Spline

7 FP16790 Lemon Tube:34.5 X 3 O Inner

8 FP16805T Lemon Tube:41.3 X 3 1 Outer

9 570.311032138 Radial Pin Clutch K32 2 Row - 600Nm 1.3/8 inch - 6 Spline

10 570.311033138 Radial Pin Clutch K33 3 Row - 900Nm 1.3/8 inch - 6 Spline

11 FP16200 Push Pin Set - 1.3/8 inch Yokes 45x13 / 35x8 Weasler - All AW Series

12 FP16202 Push Pin Set - 1.3/8 inch Yokes 54.5x13 (7.7x14.7) Weasler - All AW Series

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16270FP16015 FP16435 FP16440

647.311 FP16271 FP16790 FP16805T

570.311032138 570.311033138 FP16200 FP16202

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16015
https://www.fastparts.ie/PTO///FP16270
https://www.fastparts.ie/PTO///FP16435
https://www.fastparts.ie/PTO///FP16440
https://www.fastparts.ie/PTO///647.311
https://www.fastparts.ie/PTO///FP16271
https://www.fastparts.ie/PTO///FP16790
https://www.fastparts.ie/PTO///FP16805T
https://www.fastparts.ie/PTO///570.311032138
https://www.fastparts.ie/PTO///570.311033138
https://www.fastparts.ie/PTO///FP16200
https://www.fastparts.ie/PTO///FP16202


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 7

Safety Guards

2 AW11 - Cross 27x70 (Continued)

No. Description OEM Ref / Size Additional Information

1 904-2500-101 Safety Guard C/W Bearing Rings 1010mm EasyLock Quick Fit System

2 904-2500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

3 321.251 Bearing Kit For Safety Guard - -

4 795.1065 Roll Pin 10x65 - -

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

904-2500-136904-2500-101 321.251 795.1065

1211109

8765

4321

https://www.fastparts.ie/PTO///904-2500-101
https://www.fastparts.ie/PTO///904-2500-136
https://www.fastparts.ie/PTO///321.251
https://www.fastparts.ie/PTO///795.1065


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 8

Components

3 AW20 - Cross 24x61

No. Description OEM Ref / Size Additional Information

1 FP16010 Cross 23.8x61.2 20.00.00 Standard Lubrication 8 hours

2 FP16265 Quick Release Yoke End 20.10.00 1.3/8 inch - 6 Spline

3 FP16425 Yoke - Inner Tube 20.11.00 Lemon Tube:34.5 X 3

4 FP16430 Yoke - Outer Tube 20.12.00 Lemon Tube:41.3 X 3

5 FP16012 Cross 23.8x61.2 20.00.141 Cap Lubrication

6 400.220638 Auto-Lok Yoke 20.10.00 1.3/8 inch - 6 Spline

7 FP16790 Lemon Tube:34.5 X 3 O Inner

8 FP16805T Lemon Tube:41.3 X 3 1 Outer

9 400.220325 Round Bore Yoke End - 25mm, 8mm Key, M10 Grub Screw

10 400.220330 Round Bore Yoke End - 30mm, 8mm Key, M12 Grub Screw

11 520.20001 Inner Joint Complete - Lemon Tube:34.5 X 3

12 520.20002 Outer Joint Complete - Lemon Tube:41.3 X 3

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16265FP16010 FP16425 FP16430

FP16012 400.220638 FP16790 FP16805T

400.220325 400.220330 520.20001 520.20002

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16010
https://www.fastparts.ie/PTO///FP16265
https://www.fastparts.ie/PTO///FP16425
https://www.fastparts.ie/PTO///FP16430
https://www.fastparts.ie/PTO///FP16012
https://www.fastparts.ie/PTO///400.220638
https://www.fastparts.ie/PTO///FP16790
https://www.fastparts.ie/PTO///FP16805T
https://www.fastparts.ie/PTO///400.220325
https://www.fastparts.ie/PTO///400.220330
https://www.fastparts.ie/PTO///520.20001
https://www.fastparts.ie/PTO///520.20002


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 9

Components

3 AW20 - Cross 24x61 (Continued)

No. Description OEM Ref / Size Additional Information

1 795.1065 Roll Pin 10x65 - -

2 FP08177 Joint Assembly Lely Stabilo 30mm Round Bore & 8mm Key x 2

3 FP08178 Joint Assembly Lely Rotonde 1.3/8 inch - 21 Spline x 2 

4 FP08192 Yoke End - Hex 27mm - Rozmital 

5 FP16604 Shearbolt Clutch 900Nm - M6x48 1.3/8 inch - 6 Spline

6 FP16149 Overrun Clutch RH 56.140.40, F5/1R 1.3/8 inch - 6 Spline

7 570.220032138 Radial Pin Clutch K32 2 Row - 600Nm 1.3/8 inch - 6 Spline

8 570.220033138 Radial Pin Clutch K33 3 Row - 900Nm 1.3/8 inch - 6 Spline

9 FP90501 Round Bore Yoke End Hardi Sprayer 25mm Tapered Shaft

10 FP90506 Round Bore Yoke End Hardi Sprayer 30mm Tapered Shaft

11 FP16010T Crossing 23.8x61.3 Fastparts -

12 FP16265T Quick Release Yoke End Fastparts 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP08177795.1065 FP08178 FP08192

FP16604 FP16149 570.220032138 570.220033138

FP90501 FP90506 FP16010T FP16265T

1211109

8765

4321

https://www.fastparts.ie/PTO///795.1065
https://www.fastparts.ie/PTO///FP08177
https://www.fastparts.ie/PTO///FP08178
https://www.fastparts.ie/PTO///FP08192
https://www.fastparts.ie/PTO///FP16604
https://www.fastparts.ie/PTO///FP16149
https://www.fastparts.ie/PTO///570.220032138
https://www.fastparts.ie/PTO///570.220033138
https://www.fastparts.ie/PTO///FP90501
https://www.fastparts.ie/PTO///FP90506
https://www.fastparts.ie/PTO///FP16010T
https://www.fastparts.ie/PTO///FP16265T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 10

Components - Wide Angle

3 AW20 - Cross 24x61 (Continued)

No. Description OEM Ref / Size Additional Information

1 628.2006 Cross 23.8x61.2/22x77 20.06.00 Cap Greasing

2 428.020000 Centre Piece - -

3 428.220138 Quick Release Yoke End - 1.3/8 inch - 6 Spline

4 428.020241 Yoke - Outer Tube - Lemon Tube:41.3 X 3

5 528.020001 Inner Joint Complete - Lemon Tube:34.5 X 3

6 528.020002 Outer Joint Complete - Lemon Tube:41.3 X 3

7 3680.0020 Bearing Kit for Safety Guard - -

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

428.020000628.2006 428.220138 428.020241

528.020001 528.020002 3680.0020

1211109

8765

4321

https://www.fastparts.ie/PTO///628.2006
https://www.fastparts.ie/PTO///428.020000
https://www.fastparts.ie/PTO///428.220138
https://www.fastparts.ie/PTO///428.020241
https://www.fastparts.ie/PTO///528.020001
https://www.fastparts.ie/PTO///528.020002
https://www.fastparts.ie/PTO///3680.0020


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 11

PTO Shafts & Safety Guards

3 AW20 - Cross 24x61 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16904B PTO Shaft - Radial Pin Clutch 1360mm - 900Nm 1.3/8 inch - 6 Spline  (Haybob)

2 FP16947 PTO Shaft - Standard 1100mm 1.3/8 inch - 6 Spline 

3 904-2500-101 Safety Guard C/W Bearing Rings 1010mm EasyLock Quick Fit System

4 904-2500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

5 FP16906 Safety Guard C/W Bearing Rings 1360mm Extended Cone to cover Radial Clutch

6 321.251 Bearing Kit For Safety Guard - -

7 FP16998 Chain For Safety Guard - -

8 FP16999 Easy Lock Grease Nipple - -

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16947FP16904B 904-2500-101 904-2500-136

FP16906 321.251 FP16998 FP16999

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16904B
https://www.fastparts.ie/PTO///FP16947
https://www.fastparts.ie/PTO///904-2500-101
https://www.fastparts.ie/PTO///904-2500-136
https://www.fastparts.ie/PTO///FP16906
https://www.fastparts.ie/PTO///321.251
https://www.fastparts.ie/PTO///FP16998
https://www.fastparts.ie/PTO///FP16999


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 12

Components

4 AW21 - Cross 27x74.6

No. Description OEM Ref / Size Additional Information

1 FP16020 Cross 27x74.6 21.00.00 Standard Lubrication 8 hours

2 FP16275 Quick Release Yoke End 21.10.00 1.3/8 inch - 6 Spline

3 FP16445 Yoke - Inner Tube 21.11.00 Lemon Tube:34.5 X 4

4 FP16450 Yoke - Outer Tube 21.12.00 Lemon Tube:41.3 X 3

5 795.1075 Roll Pin 10x75 - -

6 FP16550 Quick Release Yoke End 21.19.00 1.3/8 inch - 21 Spline

7 FP16795T Lemon Tube:34.5 X 4 OV Inner

8 FP16805T Lemon Tube:41.3 X 3 1 Outer

9 FP16250 Round Bore Yoke End - 25mm, 8mm Key, M10 Grub Screw

10 FP16251 Round Bore Yoke End - 30mm, 8mm Key, M12 Grub Screw

11 520.21001 Inner Joint Complete - Lemon Tube:34.5 X 4

12 520.21002 Outer Joint Complete - Lemon Tube:41.3 X 3

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16275FP16020 FP16445 FP16450

795.1075 FP16550 FP16795T FP16805T

FP16250 FP16251 520.21001 520.21002

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16020
https://www.fastparts.ie/PTO///FP16275
https://www.fastparts.ie/PTO///FP16445
https://www.fastparts.ie/PTO///FP16450
https://www.fastparts.ie/PTO///795.1075
https://www.fastparts.ie/PTO///FP16550
https://www.fastparts.ie/PTO///FP16795T
https://www.fastparts.ie/PTO///FP16805T
https://www.fastparts.ie/PTO///FP16250
https://www.fastparts.ie/PTO///FP16251
https://www.fastparts.ie/PTO///520.21001
https://www.fastparts.ie/PTO///520.21002


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 13

Components

4 AW21 - Cross 27x74.6 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16252 Round Bore Yoke End - 35mm, 10mm Keyway, M12 Grub

2 400.421638 Auto-Lok Yoke  - 1.3/8 inch - 6 Spline

3 400.421621 Auto-Lok Yoke  - 1.3/8 inch - 21 Spline

4 400.421620 Auto-Lok Yoke - 1.3/4 inch - 20 Spline

5 400.421120 Quick Release Yoke End - 1.3/4 inch - 20 Spline

6 400.421134 Quick Release Yoke End  - 1.3/4 inch - 6 Spline

7 400.4214138 Bolt Clamp Yoke End - 1.3/8 inch - 6 Spline

8 400.4214121 Bolt Clamp Yoke End - 1.3/8 inch - 21 Spline

9 FP16200 Push Pin Set - 1.3/8 inch Yokes 45x13 / 35x8 Weasler - All AW Series

10 FP16275T Quick Release Yoke End - 1.3/8 inch - 6 Spline

11 FP16100T Inner Joint Complete - Lemon - Inner 40.1 x 34.5 x 4

12 FP16101T Outer Joint Complete - Lemon - Outer 57.5 x 48 x 3.8

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

400.421638FP16252 400.421621 400.421620

400.421120 400.421134 400.4214138 400.4214121

FP16200 FP16275T FP16100T FP16101T

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16252
https://www.fastparts.ie/PTO///400.421638
https://www.fastparts.ie/PTO///400.421621
https://www.fastparts.ie/PTO///400.421620
https://www.fastparts.ie/PTO///400.421120
https://www.fastparts.ie/PTO///400.421134
https://www.fastparts.ie/PTO///400.4214138
https://www.fastparts.ie/PTO///400.4214121
https://www.fastparts.ie/PTO///FP16200
https://www.fastparts.ie/PTO///FP16275T
https://www.fastparts.ie/PTO///FP16100T
https://www.fastparts.ie/PTO///FP16101T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 14

Components

4 AW21 - Cross 27x74.6 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16600 Shearbolt Clutch 1600Nm - M8x48 1.3/8 inch - 6 Spline 

2 FP16601 Shearbolt Clutch 1600Nm - M8x48 1.3/8 inch - 21 Spline 

3 FP16145 Overrun Clutch RH 56.141.40 1.3/8 inch - 6 Spline

4 570.421033138 Radial Pin Clutch K33 3 Row - 900Nm 1.3/8 inch - 6 Spline 

5 570.421034138 Radial Pin Clutch K34 4 Row - 1200Nm 1.3/8 inch - 6 Spline 

6 560.421090138 Friction Clutch  900Nm - 2 Disc 1.3/8 inch - 6 Spline 

7 FP16226 Friction Clutch Disc - 140x85x3.5

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16601FP16600 FP16145 570.421033138

570.421034138 560.421090138 FP16226

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16600
https://www.fastparts.ie/PTO///FP16601
https://www.fastparts.ie/PTO///FP16145
https://www.fastparts.ie/PTO///570.421033138
https://www.fastparts.ie/PTO///570.421034138
https://www.fastparts.ie/PTO///560.421090138
https://www.fastparts.ie/PTO///FP16226


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 15

Components - Wide Angle

4 AW21 - Cross 27x74.6 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16021 Cross 23.8x91/27x74.6 21.06.00 Standard Lubrication 8 hours

2 FP16887 Quick Release Yoke End - 1.3/8 inch - 6 Spline

3 FP16890 Yoke - Inner Tube - Lemon Tube:34.5 X 4

4 FP16892 Yoke - Outer Tube - Lemon Tube:41.3 X 3

5 FP16888 Quick Release Yoke End - 1.3/8 inch - 21 Spline

6 428.421134 Quick Release Yoke End - 1.3/4 inch - 6 Spline

7 428.421120 Quick Release Yoke End - 1.3/4 inch - 20 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16887FP16021 FP16890 FP16892

FP16888 428.421134 428.421120

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16021
https://www.fastparts.ie/PTO///FP16887
https://www.fastparts.ie/PTO///FP16890
https://www.fastparts.ie/PTO///FP16892
https://www.fastparts.ie/PTO///FP16888
https://www.fastparts.ie/PTO///428.421134
https://www.fastparts.ie/PTO///428.421120


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 16

PTO Shafts & Safety Guards

4 AW21 - Cross 27x74.6 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16940 PTO Shaft - Standard 1360mm 1.3/8 inch - 6 Spline 

2 FP16211361R1 PTO Shaft - Radial Pin Clutch 1360mm - 900Nm 1.3/8 inch - 6 Spline 

3 FP16904T PTO Shaft - Radial Pin Clutch 800Nm 1360mm total 1.3/8 inch - 6 Spline, Haybob

4 FP16907T PTO Shaft - Overrun Clutch 900mm 1.3/8 inch - 6 Spline, Drum Mower

5 FP16988 PTO Shaft - Wide Angle Shearbolt 1100mm - 1600Nm 1.3/8 inch - 6 Spline

6 904-2500-101 Safety Guard C/W Bearing Rings 1010mm EasyLock Quick Fit System 

7 904-2500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System 

8 321.251 Bearing Kit For Safety Guard 2 x 50mm EasyLock Quick Fit System 

9 FP16998 Chain For Safety Guard - -

10 FP16999 Easy Lock Grease Nipple - -

11 3800.25136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

12 361.2100 Guard Cone - Includes Bearing Ring

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16211361R1FP16940 FP16904T FP16907T

FP16988 904-2500-101 904-2500-136 321.251

FP16998 FP16999 3800.25136 361.2100

NEW

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16940
https://www.fastparts.ie/PTO///FP16211361R1
https://www.fastparts.ie/PTO///FP16904T
https://www.fastparts.ie/PTO///FP16907T
https://www.fastparts.ie/PTO///FP16988
https://www.fastparts.ie/PTO///904-2500-101
https://www.fastparts.ie/PTO///904-2500-136
https://www.fastparts.ie/PTO///321.251
https://www.fastparts.ie/PTO///FP16998
https://www.fastparts.ie/PTO///FP16999
https://www.fastparts.ie/PTO///3800.25136
https://www.fastparts.ie/PTO///361.2100


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 17

Components

4 AW12 - Cross 34x90 

No. Description OEM Ref / Size Additional Information

1 FP16045 Cross 34x90 12.00.00 Standard Lubrication 8 hours

2 FP16300 Quick Release Yoke End 12.10.00 1.3/8 inch - 6 Spline 

3 FP16485 Yoke - Inner Tube 12.38.00 Lemon Tube:39.5 X 5

4 FP16490 Yoke - Outer Tube 12.39.00 Lemon Tube:48 X 4

5 795.1090 Roll Pin 10x90 - -

6 FP16301 Quick Release Yoke End 12.50.00 1.3/8 inch - 21 Spline

7 FP16810T Lemon Tube:39.5 X 5 1B Inner

8 FP16815T Lemon Tube:48 X 4 2A Outer

9 FP16820B Star Tube:51 S4 Inner

10 FP16825B Star Tube:61 X 4 S5 Outer

11 FP16486 Yoke - Inner Tube  12.38.02 Star Tube:51

12 FP16487 Yoke - Outer Tube 12.30.00 Star Tube:61 X 4

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16300FP16045 FP16485 FP16490

795.1090 FP16301 FP16810T FP16815T

FP16820B FP16825B FP16486 FP16487

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16045
https://www.fastparts.ie/PTO///FP16300
https://www.fastparts.ie/PTO///FP16485
https://www.fastparts.ie/PTO///FP16490
https://www.fastparts.ie/PTO///795.1090
https://www.fastparts.ie/PTO///FP16301
https://www.fastparts.ie/PTO///FP16810T
https://www.fastparts.ie/PTO///FP16815T
https://www.fastparts.ie/PTO///FP16820B
https://www.fastparts.ie/PTO///FP16825B
https://www.fastparts.ie/PTO///FP16486
https://www.fastparts.ie/PTO///FP16487


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 18

Components & Safety Guards

4 AW12 - Cross 34x90 (Continued)

No. Description OEM Ref / Size Additional Information

1 420.012134 Quick Release Yoke End - 1.3/4 inch - 6 Spline

2 FP16200 Push Pin Set - 1.3/8 inch Yokes 45x13 / 35x8 Weasler - All AW Series

3 FP16202 Push Pin Set - 1.3/8 inch Yokes 54.5x13 (7.7x14.7) Weasler - All AW Series

4 FP16201 Push Pin Set - 1.3/4 inch Yokes 54.5x16 (42.5x9) Weasler - All AW Series

5 904-3500-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

6 904-3500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

7 321.3525 Bearing Kit For Safety Guard 961-3525 2 x 62mm

8 FP16998 Chain For Safety Guard - -

9 FP16999 Easy Lock Grease Nipple - -

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16200420.012134 FP16202 FP16201

904-3500-086 904-3500-136 321.3525 FP16998

FP16999

1211109

8765

4321

https://www.fastparts.ie/PTO///420.012134
https://www.fastparts.ie/PTO///FP16200
https://www.fastparts.ie/PTO///FP16202
https://www.fastparts.ie/PTO///FP16201
https://www.fastparts.ie/PTO///904-3500-086
https://www.fastparts.ie/PTO///904-3500-136
https://www.fastparts.ie/PTO///321.3525
https://www.fastparts.ie/PTO///FP16998
https://www.fastparts.ie/PTO///FP16999


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 19

Components

5 AW22 - Cross 30.2x92

No. Description OEM Ref / Size Additional Information

1 FP16030 Cross 30.2x92 22.00.00 Standard Lubrication 8 hours

2 FP16285 Quick Release Yoke End 22.10.00 1.3/8 inch - 6 Spline

3 FP16455 Yoke - Inner Tube -  Lemon 22.11.00 1B

4 FP16460 Yoke - Outer Tube - Lemon 22.12.00 2A

5 FP16285T Quick Release Yoke End - 1.3/8 inch - 6 Spline

6 FP16286 Quick Release Yoke End 22.19.00 1.3/8 inch - 21 Spline

7 FP16810T 6.04L Lemon Tube Per Mtr 1B Inner - 49x39.5x4.5

8 FP16815T 6.03L Lemon Tube Per Mtr 2A Outer - 57.5x48x3.8

9 FP16820B Star Tube:51 S4 Inner

10 FP16825B Star Tube:61 X 4 S5 Outer

11 FP16461 Yoke - Inner Tube  22.11.01 Star Tube:51

12 FP16462 Yoke - Outer Tube 22.30.00 Star Tube:61 X 4

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16285FP16030 FP16455 FP16460

FP16285T FP16286 FP16810T FP16815T

FP16820B FP16825B FP16461 FP16462

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16030
https://www.fastparts.ie/PTO///FP16285
https://www.fastparts.ie/PTO///FP16455
https://www.fastparts.ie/PTO///FP16460
https://www.fastparts.ie/PTO///FP16285T
https://www.fastparts.ie/PTO///FP16286
https://www.fastparts.ie/PTO///FP16810T
https://www.fastparts.ie/PTO///FP16815T
https://www.fastparts.ie/PTO///FP16820B
https://www.fastparts.ie/PTO///FP16825B
https://www.fastparts.ie/PTO///FP16461
https://www.fastparts.ie/PTO///FP16462


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 20

Components

5 AW22 - Cross 30.2x92 (Continued)

No. Description OEM Ref / Size Additional Information

1 647.622 Cross  30.2x92 22.00.00 Extended Lubrication Intervals

2 400.622634 Auto-Lok End Yoke - 1.3/4 inch - 6 Spline

3 400.6224121 Bolt Clamp Yoke End - 1.3/8 inch - 21 Spline

4 400.622335 Round Bore Yoke End  - 35mm, 10mm Keyway, M12 Grub

5 400.622435 Round Bore Yoke End - 35mm - Clamp Bolt Interferring

6 FP16200 Push Pin Set - 1.3/8 inch Yokes 45x13 / 35x8 Weasler - All AW Series

7 FP16202 Push Pin Set - 1.3/8 inch Yokes 54.5x13 (7.7x14.7) Weasler - All AW Series

8 FP16899 Shearbolt Clutch 2920Nm - M10x56 1.3/8 inch - 6 Spline

9 FP16898 Shearbolt Clutch 2920Nm - M10x56 1.3/8 inch - 21 Spline

10 FP16144 Overrun Clutch Right Hand W220 1.3/8 inch - 6 Spline

11 FP16150 Overrun Clutch Left Hand W220 1.3/8 inch - 6 Spline

12 570.6220320.400 Radial Pin Clutch K32 2 Row - 400Nm 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

400.622634647.622 400.6224121 400.622335

400.622435 FP16200 FP16202 FP16899

FP16898 FP16144 FP16150 570.6220320.400

1211109

8765

4321

https://www.fastparts.ie/PTO///647.622
https://www.fastparts.ie/PTO///400.622634
https://www.fastparts.ie/PTO///400.6224121
https://www.fastparts.ie/PTO///400.622335
https://www.fastparts.ie/PTO///400.622435
https://www.fastparts.ie/PTO///FP16200
https://www.fastparts.ie/PTO///FP16202
https://www.fastparts.ie/PTO///FP16899
https://www.fastparts.ie/PTO///FP16898
https://www.fastparts.ie/PTO///FP16144
https://www.fastparts.ie/PTO///FP16150
https://www.fastparts.ie/PTO///570.6220320.400


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 21

Components & Safety Guards

5 AW22 - Cross 30.2x92 (Continued)

No. Description OEM Ref / Size Additional Information

1 560.622150438 Friction Clutch 1500Nm - 4 Disc 1.3/8 inch - 6 Spline

2 FP16221 Friction Clutch Disc - 160x97x3.5mm

3 561.0000117 Spring For Friction Clutch - 34mm x 26mm (h x w)

4 904-3500-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

5 904-3500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

6 321.3525 Bearing Kit For Safety Guard 961-3525 2 x 62mm

7 FP16998 Chain For Safety Guard - -

8 FP16999 Easy Lock Grease Nipple - -

9 795.1080 Roll Pin 10x80 - -

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16221560.622150438 561.0000117 904-3500-086

904-3500-136 321.3525 FP16998 FP16999

795.1080

1211109

8765

4321

https://www.fastparts.ie/PTO///560.622150438
https://www.fastparts.ie/PTO///FP16221
https://www.fastparts.ie/PTO///561.0000117
https://www.fastparts.ie/PTO///904-3500-086
https://www.fastparts.ie/PTO///904-3500-136
https://www.fastparts.ie/PTO///321.3525
https://www.fastparts.ie/PTO///FP16998
https://www.fastparts.ie/PTO///FP16999
https://www.fastparts.ie/PTO///795.1080


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 22

Components

6 AW35 - Cross 32x76

No. Description OEM Ref / Size Additional Information

1 FP16040 Cross 32x76 35.00.00 Standard Lubrication 8 hours

2 FP16295 Quick Release Yoke End 35.10.00 1.3/8 inch - 6 Spline

3 FP16481 Yoke - Inner Tube 35.13.100 Star Tube:51

4 FP16482 Yoke - Outer Tube 35.14.100 Star Tube:61 X 4

5 FP16482B Yoke - Outer Tube 35.14.100 Star Tube:61 X 4

6 94-80663 Half Shaft - Star Outer Tube S5 1200mm No Cover, No End Yoke

7 FP16820B Star Tube:51 S4 Inner

8 FP16825B Star Tube:61 X 4 S5 Outer

9 FP16555 Quick Release Yoke End 35.10.02 1.3/8 inch - 21 Spline

10 FP16296 Quick Release Yoke End 35.18.00 1.3/4 inch - 6 Spline

11 520.35003 Inner Joint Complete  Star - Star Tube:51

12 520.35004 Outer Joint Complete  Star - Star Tube:61 X 4

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16295FP16040 FP16481 FP16482

FP16482B 94-80663 FP16820B FP16825B

FP16555 FP16296 520.35003 520.35004

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16040
https://www.fastparts.ie/PTO///FP16295
https://www.fastparts.ie/PTO///FP16481
https://www.fastparts.ie/PTO///FP16482
https://www.fastparts.ie/PTO///FP16482B
https://www.fastparts.ie/PTO///94-80663
https://www.fastparts.ie/PTO///FP16820B
https://www.fastparts.ie/PTO///FP16825B
https://www.fastparts.ie/PTO///FP16555
https://www.fastparts.ie/PTO///FP16296
https://www.fastparts.ie/PTO///520.35003
https://www.fastparts.ie/PTO///520.35004


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 23

Components 

6 AW35 - Cross 32x76 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16297 Safety Slide Yoke End 35.10.00 1.3/8 inch - 6 Spline

2 FP16556 Quick Release Yoke End - 1.3/4 inch - 20 Spline

3 FP16475 Yoke - Inner Tube - Lemon 35.13.00 Lemon Tube:39.5 X 5

4 FP16480 Yoke - Outer Tube - Lemon 35.14.00 Lemon Tube:48 X 4

5 420.035335 Round Bore Yoke End  - 35mm, 10mm Keyway, M12 Grub

6 420.0354138 Bolt Clamp Yoke End 807-7606 1.3/8 inch - 6 Spline, Single Clamp Bolt

7 FP16810T 6.04L Lemon Tube Per Mtr 1B Inner - 49x39.5x4.5

8 FP16815T 6.03L Lemon Tube Per Mtr 2A Outer - 57.5x48x3.8

9 795.1080 Roll Pin 10x80 - -

10 FP16602 Shearbolt Clutch 2920Nm - M10x56 1.3/8 inch - 6 Spline, Double Clamp Bolt

11 520.35001 Inner Joint Complete - Lemon Tube:39.5 X 5

12 520.35002 Outer Joint Complete - Lemon Tube:48 X 4

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16556FP16297 FP16475 FP16480

420.035335 420.0354138 FP16810T FP16815T

795.1080 FP16602 520.35001 520.35002

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16297
https://www.fastparts.ie/PTO///FP16556
https://www.fastparts.ie/PTO///FP16475
https://www.fastparts.ie/PTO///FP16480
https://www.fastparts.ie/PTO///420.035335
https://www.fastparts.ie/PTO///420.0354138
https://www.fastparts.ie/PTO///FP16810T
https://www.fastparts.ie/PTO///FP16815T
https://www.fastparts.ie/PTO///795.1080
https://www.fastparts.ie/PTO///FP16602
https://www.fastparts.ie/PTO///520.35001
https://www.fastparts.ie/PTO///520.35002


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 24

Components 

6 AW35 - Cross 32x76 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16151 Overrun Clutch LH 56.137.40 1.3/8 inch - 6 Spline

2 FP16140 Overrun Clutch RH 56.144.40 1.3/8 inch - 6 Spline

3 570.035034138 Radial Pin Clutch K34 4 Row - 1200Nm 1.3/8 inch - 6 Spline

4 570.035035138 Radial Pin Clutch K35 5 Row - 1500Nm 1.3/8 inch - 6 Spline

5 FP161100 Automatic Cam Clutch 2000Nm 1.3/8 inch - 6 Spline

6 560.035125438 Friction Clutch  1250Nm - 2 Disc 1.3/8 inch - 6 Spline

7 560.035150438 Friction Clutch  1500Nm - 4 Disc 1.3/8 inch - 6 Spline

8 FP16221 Friction Clutch Disc - 160x97x3.5mm

9 561.0000117 Spring for Friction Clutch - 34mm x 26mm (h x w)

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16140FP16151 570.035034138 570.035035138

FP161100 560.035125438 560.035150438 FP16221

561.0000117

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16151
https://www.fastparts.ie/PTO///FP16140
https://www.fastparts.ie/PTO///570.035034138
https://www.fastparts.ie/PTO///570.035035138
https://www.fastparts.ie/PTO///FP161100
https://www.fastparts.ie/PTO///560.035125438
https://www.fastparts.ie/PTO///560.035150438
https://www.fastparts.ie/PTO///FP16221
https://www.fastparts.ie/PTO///561.0000117


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 25

Components - Wide Angle EUCV

6 AW35 - Cross 32x76 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16041 Cross 32x76/27x98 35.06.00 Standard Lubrication 8 hours

2 FP16041B Cross 32x76/27x98 35.06.00 Benzi Evolution - Wide Angle Side

3 FP161005 Cross 32x76 - Cap Greasing - Benzi Evolution - Implement Side

4 FP16885B Quick Release Yoke End - Benzi Evolution

5 FP16885 Quick Release Yoke End 35.10.10 1.3/8 inch - 6 Spline

6 FP16884 Bolt Clamp Yoke End - 1.3/4 inch - 6 Spline

7 FP16483 Yoke - Inner Tube - Star 35.13.109 S4

8 FP16484 Yoke - Outer Tube - Star 35.14.109 S5

9 528.035003 Inner Joint Complete - Star S4 1.3/8 inch - 6 Spline

10 528.035004 Outer Joint Complete - Star S5 1.3/8 inch - 6 Spline

11 1553-7621-00 Inner Joint Complete - Star S4 1.3/8 inch - 21 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16041BFP16041 FP161005 FP16885B

FP16885 FP16884 FP16483 FP16484

528.035003 528.035004 1553-7621-00

NEW
NEW

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16041
https://www.fastparts.ie/PTO///FP16041B
https://www.fastparts.ie/PTO///FP161005
https://www.fastparts.ie/PTO///FP16885B
https://www.fastparts.ie/PTO///FP16885
https://www.fastparts.ie/PTO///FP16884
https://www.fastparts.ie/PTO///FP16483
https://www.fastparts.ie/PTO///FP16484
https://www.fastparts.ie/PTO///528.035003
https://www.fastparts.ie/PTO///528.035004
https://www.fastparts.ie/PTO///1553-7621-00
https://www.fastparts.ie/PTO///94-80663


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 26

Components - Wide Angle EUCV

6 AW35 - Cross 32x76 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16880 Yoke - Inner Tube - Lemon 35.13.10 Lemon Tube:39.5 X 5

2 FP16882 Yoke - Outer Tube - Lemon 35.14.10 Lemon Tube:48 X 4

3 FP16870 Inner Joint Complete - Lemon 1B 1.3/8 inch - 6 Spline

4 FP16872 Outer Joint Complete - Lemon 2A 1.3/8 inch - 6 Spline

5 1551-7621-00 Inner Joint Complete - Lemon 1B 1.3/8 inch - 21 Spline

6 FP16895 Centre Piece Wide Angle - -

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16882FP16880 FP16870 FP16872

1551-7621-00 FP16895

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16880
https://www.fastparts.ie/PTO///FP16882
https://www.fastparts.ie/PTO///FP16870
https://www.fastparts.ie/PTO///FP16872
https://www.fastparts.ie/PTO///1551-7621-00
https://www.fastparts.ie/PTO///FP16895


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 27

PTO Shafts & Safety Guards

6 AW35 - Cross 32x76 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16960B PTO Shaft - Standard 1010mm 1.3/8 inch - 6 Spline

2 FP16963B PTO Shaft - Standard 1210mm 1.3/8 inch - 6 Spline

3 FP1635101F PTO Shaft - Friction Clutch 2 Disc 1010mm - 1200Nm 1.3/8 inch - 6 Spline

4 FP1635101O PTO Shaft - Overrun Clutch 2 Row 1010mm 1.3/8 inch - 6 Spline

5 FP1635136R PTO Shaft - Radial Pin Clutch 4 Row 1360mm - 1200Nm 1.3/8 inch - 6 Spline

6 904-3500-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

7 904-3500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

8 321.3525 Bearing Kit For Safety Guard 961-3525 2 x Ø62mm

9 FP166052 Safety Guard C/W Bearing Rings 1010mm Energy

10 FP166053 Safety Guard C/W Bearing Rings 1360mm Energy

11 FP166042 Bearing Kit - 2 x Ø63mm - Energy

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16963BFP16960B FP1635101F FP1635101O

FP1635136R 904-3500-086 904-3500-136 321.3525

FP166052 FP166053 FP166042

NEW
NEW

NEW
NEW

NEW
NEW

NEW

NEW
NEW

NEW
1211109

8765

4321

https://www.fastparts.ie/PTO///FP16960B
https://www.fastparts.ie/PTO///FP16963B
https://www.fastparts.ie/PTO///FP1635101F 
https://www.fastparts.ie/PTO///FP1635101O
https://www.fastparts.ie/PTO///FP1635136R
https://www.fastparts.ie/PTO///904-3500-086
https://www.fastparts.ie/PTO///904-3500-136
https://www.fastparts.ie/PTO///321.3525
https://www.fastparts.ie/PTO///FP166052
https://www.fastparts.ie/PTO///FP166053
https://www.fastparts.ie/PTO///FP166042


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 28

PTO Shafts & Safety Guards - Wide Angle

6 AW35 - Cross 32x76 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16995B PTO Shaft WA - Lemon 1360mm 1.3/8 inch - 6 Spline, Evolution

2 FP16989B PTO Shaft WA - Lemon 1410mm - Outer  2A 1.3/8 inch - 6 Spline **Welger Baler **

3 1854-7607-136 PTO Shaft WA - Overrun Clutch 1360mm WA 1.3/8 - 21S,  Overrun 1.3/8 - 6S

4 936-80763 PTO Shaft WA *Baler Upgrade* 1510mm - WWCV WA Series 36/Implement Series 35

5 3800.35136 Safety Guard - No Bearings 1360mm EasyLock Quick Fit System

6 3580.0035 Bearing Kit For Safety Guard - 2 x 62mm & 1 x 120mm

7 FP166040 Safety Guard C/W Bearing Rings 1360mm Benzi Evolution

8 FP166041 Wide Angle Guard Cone - Benzi Evolution

9 3100.352136 Safety Guard - No Bearing Kit  1360mm Weasler WWCV - Wide Angle

10 3480.3536 Bearing Kit For Safety Guard 1 x 54mm, 1 x 62mm Weasler WWCV - Wide Angle

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16989BFP16995B 1854-7607-136 936-80763

3800.35136 3580.0035 FP166040 FP166041

3100.352136 3480.3536

NEW
NEW

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16995B
https://www.fastparts.ie/PTO///FP16989B
https://www.fastparts.ie/PTO///1854-7607-136
https://www.fastparts.ie/PTO///936-80763
https://www.fastparts.ie/PTO///3800.35136
https://www.fastparts.ie/PTO///3580.0035
https://www.fastparts.ie/PTO///FP166040
https://www.fastparts.ie/PTO///FP166041
https://www.fastparts.ie/PTO///3100.352136
https://www.fastparts.ie/PTO///3480.3536


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 29

Components 

7 AW24 - Cross 34.9x106.3

No. Description OEM Ref / Size Additional Information

1 FP16050 Cross  34.9x106.5 24.00.00 Standard Lubrication 8 hours

2 FP16305 Quick Release Yoke End 24.10.00 1.3/8 inch - 6 Spline

3 FP16495 Yoke - Inner Tube  -  Star 24.11.00 Star Tube:51

4 FP16500 Yoke - Outer Tube -  Star 24.12.00 Star Tube:61 X 4

5 795.1090 Roll Pin 10x90 - -

6 FP16306 Quick Release Yoke End 24.18.00 1.3/8 inch - 21 Spline

7 FP16820B Star Tube:51 - S4

8 FP16825B Star Tube:61 X 4 - S5

9 400.824134 Quick Release Yoke End - 1.3/4 inch - 6 Spline

10 400.824120 Quick Release Yoke End - 1.3/4 inch - 20 Spline

11 520.24001 Inner Joint Complete  Star - Star Tube:51

12 FP16200 Push Pin Set - 1.3/8 inch Yokes 45x13 / 35x8 Weasler - All AW Series

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16305FP16050 FP16495 FP16500

795.1090 FP16306 FP16820B FP16825B

400.824134 400.824120 520.24001 FP16200

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16050
https://www.fastparts.ie/PTO///FP16305
https://www.fastparts.ie/PTO///FP16495
https://www.fastparts.ie/PTO///FP16500
https://www.fastparts.ie/PTO///795.1090
https://www.fastparts.ie/PTO///FP16306
https://www.fastparts.ie/PTO///FP16820B
https://www.fastparts.ie/PTO///FP16825B
https://www.fastparts.ie/PTO///400.824134
https://www.fastparts.ie/PTO///400.824120
https://www.fastparts.ie/PTO///520.24001
https://www.fastparts.ie/PTO///FP16200


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 30

Components

7 AW24 - Cross 34.9x106.3 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16307 Safety Slide Yoke - 1.3/8 inch - 6 Spline

2 400.824634 Auto-Lok Yoke - 1.3/4 inch - 6 Spline

3 400.8244121 Yoke End - Bolt Clamp - 1.3/8 inch - 21 Spline

4 580.8245612138 Shearbolt Clutch 4180Nm - M12x56 1.3/8 inch - 6 Spline

5 580.8245612121 Shearbolt Clutch 4180Nm - M12x56 1.3/8 inch - 21 Spline

6 580.8245612134 Shearbolt Clutch 4180Nm - M12x56 1.3/4 inch - 6 Spline

7 580.8245612120 Shearbolt Clutch 4180Nm - M12x56 1.3/4 inch - 20 Spline

8 550.824005138 Overrun Clutch RH - 1.3/8 inch - 6 Spline

9 560.824150438 Friction Clutch 1500Nm - 4 Disc 1.3/8 inch - 6 Spline

10 560.824200438 Friction Clutch  2000Nm - 4 Disc 1.3/8 inch - 6 Spline

11 FP16221 Friction Clutch Disc - 160x97x3.5mm

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

400.824634FP16307 400.8244121 580.8245612138

580.8245612121 580.8245612134 580.8245612120 550.824005138

560.824150438 560.824200438 FP16221

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16307
https://www.fastparts.ie/PTO///400.824634
https://www.fastparts.ie/PTO///400.8244121
https://www.fastparts.ie/PTO///580.8245612138
https://www.fastparts.ie/PTO///580.8245612121
https://www.fastparts.ie/PTO///580.8245612134
https://www.fastparts.ie/PTO///580.8245612120
https://www.fastparts.ie/PTO///550.824005138
https://www.fastparts.ie/PTO///560.824150438
https://www.fastparts.ie/PTO///560.824200438
https://www.fastparts.ie/PTO///FP16221


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 31

Components, PTO Shafts & Safety Guards

AW24 - Cross 34.9x106.3 (Continued)

No. Description OEM Ref / Size Additional Information

1 541.8240004120 Free-Motion Yoke - 1.3/4 inch - 20 Spline

2 541.8240004134 Free-Motion Yoke - 1.3/4 inch - 6 Spline

3 AUTO 1700 Automatic Clutch Pack 1700Nm *Use with Free Motion Yoke

4 AUTO 2000 Automatic Clutch Pack 2000Nm *Use with Free Motion Yoke

5 AUTO 2400 Automatic Clutch Pack 2400Nm *Use with Free Motion Yoke

6 AUTO 2750 Automatic Clutch Pack 2750Nm *Use with Free Motion Yoke

7 FP16170 Integral Automatic Clutch Assembly 2000Nm, Weasler Star Tube:61 X 4

8 321.3525 Bearing Kit - 2 x Ø62mm

9 FP16241011F1 PTO Shaft - Friction Clutch 4 Disc 1010mm - 2000Nm 1.3/8 inch - 6 Spline

10 FP16241011F3 PTO Shaft - Friction Clutch 4 Disc 1010mm - 2000Nm 1.3/8 inch - 6S | 1.3/4 inch - 6S

11 904-3600-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

12 904-3600-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

541.8240004134541.8240004120 AUTO 1700 AUTO 2000

AUTO 2400 AUTO 2750 FP16170 321.3525

FP16241011F1 FP16241011F3 904-3600-086 904-3600-136

NEW

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///541.8240004120
https://www.fastparts.ie/PTO///541.8240004134
https://www.fastparts.ie/PTO///AUTO 1700
https://www.fastparts.ie/PTO///AUTO 2000
https://www.fastparts.ie/PTO///AUTO 2400
https://www.fastparts.ie/PTO///AUTO 2750
https://www.fastparts.ie/PTO///FP16170
https://www.fastparts.ie/PTO///321.3525
https://www.fastparts.ie/PTO///FP16241011F1
https://www.fastparts.ie/PTO///FP16241011F3
https://www.fastparts.ie/PTO///904-3600-086
https://www.fastparts.ie/PTO///904-3600-136


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 32

Components 

7 AW36 - Cross 36x89

No. Description OEM Ref / Size Additional Information

1 FP16055 Cross 36x89 36.00.00 Standard Lubrication 8 hours

2 FP16565 Quick Release Yoke End 36.10.00 1.3/8 inch - 6 Spline

3 FP16510 Yoke - Inner Tube 36.13.100 Star Tube:51

4 FP16515 Yoke - Outer Tube - AW36 Star 36.14.100 Star Tube:61 X 4

5 647.036 Cross 36x89 36.00.00 Extended Lubrication Intervals

6 FP16560 Quick Release Yoke End 36.10.02 1.3/8 inch - 21 Spline

7 FP16820B Star Tube:51 S4 Inner

8 FP16825B Star Tube:61 X 4 S5 Outer

9 795.1085 Roll Pin 10x85 - -

10 420.036638 Auto-Lok Yoke - 1.3/8 inch - 6 Spline

11 520.36001 Inner Joint Complete - Star Tube:51

12 520.36002 Outer Joint Complete - Star Tube:61 X 4

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16565FP16055 FP16510 FP16515

647.036 FP16560 FP16820B FP16825B

795.1085 420.036638 520.36001 520.36002

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16055
https://www.fastparts.ie/PTO///FP16565
https://www.fastparts.ie/PTO///FP16510
https://www.fastparts.ie/PTO///FP16515
https://www.fastparts.ie/PTO///647.036
https://www.fastparts.ie/PTO///FP16560
https://www.fastparts.ie/PTO///FP16820B
https://www.fastparts.ie/PTO///FP16825B
https://www.fastparts.ie/PTO///795.1085
https://www.fastparts.ie/PTO///420.036638
https://www.fastparts.ie/PTO///520.36001
https://www.fastparts.ie/PTO///520.36002


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 33

Components 

7 AW36 - Cross 36x89 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16504 Yoke - Inner Tube 36.13.00 Lemon Tube:39.5 X 5

2 FP16505 Yoke - Outer Tube 36.14.00 Lemon Tube:48 X 4

3 FP16810T Lemon Tube:39.5 X 5 1B Inner

4 FP16815T Lemon Tube:48 X 4 2A Outer

5 110-7928 Auto-Lok Yoke - 1.3/4 inch - 6 Spline

6 420.036620 Auto-Lok Yoke - 1.3/4 inch - 20 Spline

7 FP16566 Quick Release Yoke End - 1.3/4 inch - 6 Spline

8 FP16567 Quick Release Yoke End - 1.3/4 inch - 20 Spline

9 FP16520 Bolt Clamp Yoke End - Clamp Bolt - 1.3/8 inch - 21 Spline

10 FP16522 Bolt Clamp Yoke End - Clamp Bolt - 1.3/4 inch - 20 Spline

11 FP16523 Bolt Clamp Yoke End - Clamp Bolt x 2 - 1.3/4 inch - 20 Spline

12 79020-0003 Bolt Clamp Yoke End - Hex John Deere Mower 1.1/2 inch Hex (38mm)

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16505FP16504 FP16810T FP16815T

110-7928 420.036620 FP16566 FP16567

FP16520 FP16522 FP16523 79020-0003

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16504
https://www.fastparts.ie/PTO///FP16505
https://www.fastparts.ie/PTO///FP16810T
https://www.fastparts.ie/PTO///FP16815T
https://www.fastparts.ie/PTO///110-7928
https://www.fastparts.ie/PTO///420.036620
https://www.fastparts.ie/PTO///FP16566
https://www.fastparts.ie/PTO///FP16567
https://www.fastparts.ie/PTO///FP16520
https://www.fastparts.ie/PTO///FP16522
https://www.fastparts.ie/PTO///FP16523
https://www.fastparts.ie/PTO///79020-0003


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 34

Components 

7 AW36 - Cross 36x89 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16603 Shearbolt Clutch 3300Nm - M10 1.3/8 inch - 6 Spline

2 580.0366410434 Shearbolt Clutch 3300Nm - M10 1.3/4 inch - 6 Spline Bolt Clamp (2)

3 560.036150438 Friction Clutch - 4 Disc 1500Nm 1.3/8 inch - 6 Spline Bolt Clamp (2)

4 560.036200438 Friction Clutch - 4 Disc 2000Nm 1.3/8 inch - 6 Spline Bolt Clamp (2)

5 563-7921-08 Friction Clutch - 4 Disc 2000Nm 1.3/8 inch - 21 Spline Bolt Clamp (2)

6 563.792808 Friction Clutch - 4 Disc 2000Nm 1.3/4 inch - 6 Spline Bolt Clamp (2)

7 FP16142 Overrun Clutch RH - 1.3/8 inch - 6 Spline

8 FP16143 Overrun Clutch LH - 1.3/8 inch - 6 Spline

9 FP161105 Automatic Cam Clutch 2000Nm 1.3/4 inch - 6 Spline

10 FP16110 Free-Motion Yoke - 1.3/8 inch - 6 Spline

11 FP16112 Free-Motion Yoke - 1.3/4 inch - 6 Spline

12 AUTO 2000 Automatic Clutch Pack 2000Nm Available from 1000Nm to 2750Nm

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

580.0366410434FP16603 560.036150438 560.036200438

563-7921-08 563.792808 FP16142 FP16143

FP161105 FP16110 FP16112 AUTO 2000

NEW
1211109

8765

4321

https://www.fastparts.ie/PTO///FP16603
https://www.fastparts.ie/PTO///580.0366410434
https://www.fastparts.ie/PTO///560.036150438
https://www.fastparts.ie/PTO///560.036200438
https://www.fastparts.ie/PTO///563-7921-08
https://www.fastparts.ie/PTO///563.792808
https://www.fastparts.ie/PTO///FP16142
https://www.fastparts.ie/PTO///FP16143
https://www.fastparts.ie/PTO///FP161105
https://www.fastparts.ie/PTO///FP16110 
https://www.fastparts.ie/PTO///FP16112
https://www.fastparts.ie/PTO///AUTO 2000


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 35

Components - Wide Angle EUCV

7 AW36 - Cross 36x89 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16056 Cross 36x89/32x110 36.06.00 Standard Lubrication 8 hours

2 FP16533 Quick Release Yoke End - Pin - 1.3/8 inch - 6 Spline

3 FP16531 Yoke - Inner Tube 36.13.104 Star Tube:51

4 FP16532 Yoke - Outer Tube 36.14.116 Star Tube:61 X 4

5 FP16056B Cross 36x89/32x110 36.06.00 Benzi Evolution

6 FP16533B Quick Release Yoke End - Collar Benzi 1.3/8 inch - 6 Spline

7 528.036002 Outer Joint Complete-Star EUCV - S5 1.3/8 inch - 6 Spline

8 528.036001 Inner Joint Complete-Star EUCV - S4 1.3/8 inch - 6 Spline

9 428.036134 Quick Release Yoke End EUCV 1.3/4 inch - 6 Spline

10 FP16530 Quick Release Yoke End - 1.3/8 inch - 21 Spline

11 1551-7921-00 Inner Joint Complete-Star EUCV - S4 1.3/8 inch - 21 Spline

12 428.036000 Centre Piece Wide Angle EUCV -

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16533FP16056 FP16531 FP16532

FP16056B FP16533B 528.036002 528.036001

428.036134 FP16530 1551-7921-00 428.036000

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16056
https://www.fastparts.ie/PTO///FP16533
https://www.fastparts.ie/PTO///FP16531
https://www.fastparts.ie/PTO///FP16532
https://www.fastparts.ie/PTO///FP16056B
https://www.fastparts.ie/PTO///FP16533B
https://www.fastparts.ie/PTO///528.036002
https://www.fastparts.ie/PTO///528.036001
https://www.fastparts.ie/PTO///428.036134
https://www.fastparts.ie/PTO///FP16530
https://www.fastparts.ie/PTO///1551-7921-00
https://www.fastparts.ie/PTO///428.036000


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 36

Components - Wide Angle WWCV

7 AW36 - Cross 36x89 (Continued)

No. Description OEM Ref / Size Additional Information

1 201-3545 Cross  31.8x81.3/31.8x109.2 203-3545 Bushing Lube 

2 111-3506 Auto-Lok Yoke  Cat5 1.3/8 inch - 6 Spline

3 0.111-3521 Auto-Lok Yoke  Cat5 1.3/8 inch - 21 Spline

4 914-3300-151 Safety Guard c/w Bearings 1510mm Fits Baler Upgrade Shaft

5 3100.353136 Safety Guard Wide Angle  1360mm -

6 3480.3536 Bearing Kit For Safety Guard - 1 x 54mm, 1 x 62mm

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

111-3506201-3545 0.111-3521 914-3300-151

3100.353136 3480.3536

1211109

8765

4321

https://www.fastparts.ie/PTO///201-3545
https://www.fastparts.ie/PTO///111-3506
https://www.fastparts.ie/PTO///0.111-3521
https://www.fastparts.ie/PTO///914-3300-151
https://www.fastparts.ie/PTO///3100.353136
https://www.fastparts.ie/PTO///3480.3536


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 37

PTO Shafts

7 AW36 - Cross 36x89 (Continued)

No. Description OEM Ref / Size Additional Information

1 3850-7600-141 PTO Half Shaft - Lemon 48 x 4 1200mm 1.3/8 inch - 6 Spline, Includes Half Cover

2 FP1636086HS PTO Half Shaft - Star:61 x 4 860mm - Outer 1.3/8 inch - 6 Spline

3 FP1636086IHS PTO Half Shaft - Star:51 860mm - Inner 1.3/8 inch - 6 Spline

4 FP16967B PTO Shaft - Standard Star 1010mm 1.3/8 inch - 6 Spline, Benzi Evolution

5 FP16967T PTO Shaft - Standard Star 1010mm 1.3/8 inch - 6 Spline, Fastparts

6 FP16970B PTO Shaft Star 1010mm 1.3/8 inch - 6S | 1.3/8 inch - 21S CB

7 FP163610121 PTO Shaft Star 1010mm 1.3/8 inch - 21S | 1.3/8 inch - 6

8 936-01304 PTO Shaft Star - Hex 1010mm - John Deere 1.3/8 inch - 6S | Hex 38mm

9 FP16361011C1 PTO Shaft Star - Cam Clutch 1010mm - 2000Nm 1.3/8 inch - 6S | 1.3/8 inch - 6S

10 FP16361011C3 PTO Shaft Star - Cam Clutch 1010mm - 2000Nm 1.3/8 inch - 6S | 1.3/4 inch - 6S

11 FP16361011O1 PTO Shaft Star - Overrun Clutch RH 1010mm 1.3/8 inch - 6 Spline

12 FP16361011OL1 PTO Shaft Star - Overrun Clutch LH 1010mm 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP1636086HS3850-7600-141 FP1636086IHS FP16967B

FP16967T FP16970B FP163610121 936-01304

FP16361011C1 FP16361011C3 FP16361011O1 FP16361011OL1

NEW
NEW

NEW
NEW

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///3850-7600-141
https://www.fastparts.ie/PTO///FP1636086HS
https://www.fastparts.ie/PTO///FP1636086IHS
https://www.fastparts.ie/PTO///FP16967B
https://www.fastparts.ie/PTO///FP16967T
https://www.fastparts.ie/PTO///FP16970B
https://www.fastparts.ie/PTO///FP163610121
https://www.fastparts.ie/PTO///936-01304
https://www.fastparts.ie/PTO///FP16361011C1
https://www.fastparts.ie/PTO///FP16361011C3
https://www.fastparts.ie/PTO///FP16361011O1
https://www.fastparts.ie/PTO///FP16361011OL1


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 38

Safety Guards & Bearing Rings

7 AW36 - Cross 36x89 (Continued)

No. Description OEM Ref / Size Additional Information

1 904-3600-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

2 904-3600-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

3 321.3525 Bearing Kit For Safety Guard - 2 x Ø62mm

4 FP166052 Safety Guard C/W Bearing Rings 1010mm Energy

5 FP166053 Safety Guard C/W Bearing Rings 1360mm Energy

6 FP166042 Bearing Kit - 2 x Ø63mm - Energy

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

904-3600-136904-3600-086 321.3525 FP166052

FP166053 FP166042

NEW

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///904-3600-086
https://www.fastparts.ie/PTO///904-3600-136
https://www.fastparts.ie/PTO///321.3525
https://www.fastparts.ie/PTO///FP166052
https://www.fastparts.ie/PTO///FP166053
https://www.fastparts.ie/PTO///FP166042


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 39

PTO Shafts & Safety Guards Wide Angle

7 AW36 - Cross 36x89 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16998B PTO Shaft Star - Double Wide Angle  1210mm 1.3/8 inch - 6 Spline

2 FP16997B PTO Shaft Star 1010mm 1.3/8 inch - 6 Spline

3 936-80763 PTO Shaft Star *Baler Upgrade* 1510mm Wide Angle Series 36 / Implement Series 35

4 FP166046 Wide Angle Guard Cone - Evolution - For Wide Angle Only

5 FP166050 Safety Guard - Double Wide Angle 1360mm Evolution - With Bearings

6 FP166045 Safety Guard Wide Angle 1360mm Evolution - With Bearings

7 914-3300-151 Safety Guard Wide Angle 1510mm Weasler - With Bearings - For 936-80763

8 3800.36136 Safety Guard Wide Angle 1360mm Weasler - NO Bearings

9 3580.0036 Bearing Kit For Safety Guard - 2 x 62mm & 1 x 126mm

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16997BFP16998B 936-80763 FP166046

FP166050 FP166045 914-3300-151 3800.36136

3580.0036

NEW
NEW

NEW

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16998B
https://www.fastparts.ie/PTO///FP16997B
https://www.fastparts.ie/PTO///936-80763
https://www.fastparts.ie/PTO///FP166046
https://www.fastparts.ie/PTO///FP166050
https://www.fastparts.ie/PTO///FP166045
https://www.fastparts.ie/PTO///914-3300-151
https://www.fastparts.ie/PTO///3800.36136
https://www.fastparts.ie/PTO///3580.0036


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 40

Components 

8 AW26 - Cross 42x104

No. Description OEM Ref / Size Additional Information

1 FP16065 Cross  42x104 26.00.00 Standard Lubrication 8 hours

2 FP16298 Quick Release Yoke End 26.10.10 1.3/8 inch - 6 Spline

3 FP16516 Yoke - Inner Tube  -  Star 26.13.100 S5

4 FP16517 Yoke - Outer Tube -  Star 26.13.00 S6

5 420.026638 Auto-Lok Yoke - 1.3/8 inch - 6 Spline

6 FP16299 Quick Release Yoke End 26.10.02 1.3/8 inch - 21 Spline

7 FP16825B Star Tube:61 X 4 S5 -

8 FP16826 Star Tube:71 X 5 S6 -

9 420.026634 Auto-Lok Yoke - 1.3/4 inch - 6 Spline

10 420.026620 Auto-Lok Yoke - 1.3/4 inch - 20 Spline

11 520.26001 Inner Joint Complete - Star - Star Tube:61 X 4

12 520.26002 Outer Joint Complete - Star - Star Tube:71 X 5

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16298FP16065 FP16516 FP16517

420.026638 FP16299 FP16825B FP16826

420.026634 420.026620 520.26001 520.26002

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16065
https://www.fastparts.ie/PTO///FP16298
https://www.fastparts.ie/PTO///FP16516
https://www.fastparts.ie/PTO///FP16517
https://www.fastparts.ie/PTO///420.026638
https://www.fastparts.ie/PTO///FP16299
https://www.fastparts.ie/PTO///FP16825B
https://www.fastparts.ie/PTO///FP16826
https://www.fastparts.ie/PTO///420.026634
https://www.fastparts.ie/PTO///420.026620
https://www.fastparts.ie/PTO///520.26001
https://www.fastparts.ie/PTO///520.26002


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 41

Components  & Safety Guards

8 AW26 - Cross 42x104 (Continued)

No. Description OEM Ref / Size Additional Information

1 541.0260004138 Free-Motion Yoke - 1.3/8 inch - 6 Spline

2 541.0260004134 Free-Motion Yoke - 1.3/4 inch - 6 Spline

3 541.0260041200 Free Motion Yoke - 1.3/4 inch - 20 Spline

4 AUTO 1700 Automatic Clutch Pack 1700Nm *Use with Free Motion Yoke

5 AUTO 2000 Automatic Clutch Pack 2000Nm *Use with Free Motion Yoke

6 AUTO 2400 Automatic Clutch Pack 2400Nm *Use with Free Motion Yoke

7 AUTO 2750 Automatic Clutch Pack 2750Nm *Use with Free Motion Yoke

8 FP16200 Push Pin Set - 1.3/8 inch Yokes 45x13 / 35x8 Weasler - All AW Series

9 904-4500-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

10 904-4500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

11 901-4500-151 Safety Guard  - No Bearing Kit 1510mm EasyLock Quick Fit System

12 321.4535 Bearing Kit For Safety Guard 961-4535 2 x Ø82mm

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

541.0260004134541.0260004138 541.0260041200 AUTO 1700

AUTO 2000 AUTO 2400 AUTO 2750 FP16200

904-4500-086 904-4500-136 901-4500-151 321.4535

1211109

8765

4321

https://www.fastparts.ie/PTO///541.0260004138
https://www.fastparts.ie/PTO///541.0260004134
https://www.fastparts.ie/PTO///541.0260041200
https://www.fastparts.ie/PTO///AUTO 1700
https://www.fastparts.ie/PTO///AUTO 2000
https://www.fastparts.ie/PTO///AUTO 2400
https://www.fastparts.ie/PTO///AUTO 2750
https://www.fastparts.ie/PTO///FP16200
https://www.fastparts.ie/PTO///904-4500-086
https://www.fastparts.ie/PTO///904-4500-136
https://www.fastparts.ie/PTO///901-4500-151
https://www.fastparts.ie/PTO///321.4535


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 42

Components & Safety Guards

8 AB1 - Cross 22x54

No. Description OEM Ref / Size Additional Information

1 FP16004 Cross  22x54 1.41 Standard Lubrication 8 hours

2 FP16260 Quick Release Yoke End 1.05.07 1.3/8 inch - 6 Spline

3 FP16315 Yoke - Inner Tube 1.07 Triangle Tube:26 X 3.5

4 FP16320 Yoke - Outer Tube 1.06 Triangle Tube:33 X 2.6

5 795.0855 Roll Pin 8x55 - -

6 FP16261 Quick Release Yoke 1.05.08 1.3/8 inch - 21 Spline

7 FP16625 Triangle Tube:26 X 3.5 1.04 Inner

8 FP16630 Triangle Tube:33 X 2.6 1.03 Outer

9 904-1000-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

10 311.101 Bearing Kit For Safety Guard - 1 x 34mm, 1 x 40mm

11 510.1001 Inner Joint Complete 1.04 Triangle Tube:26 X 3.5

12 510.1002 Outer Joint Complete 1.03 Triangle Tube:33 X 2.6

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16260FP16004 FP16315 FP16320

795.0855 FP16261 FP16625 FP16630

904-1000-086 311.101 510.1001 510.1002

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16004
https://www.fastparts.ie/PTO///FP16260
https://www.fastparts.ie/PTO///FP16315
https://www.fastparts.ie/PTO///FP16320
https://www.fastparts.ie/PTO///795.0855
https://www.fastparts.ie/PTO///FP16261
https://www.fastparts.ie/PTO///FP16625
https://www.fastparts.ie/PTO///FP16630
https://www.fastparts.ie/PTO///904-1000-086
https://www.fastparts.ie/PTO///311.101
https://www.fastparts.ie/PTO///510.1001
https://www.fastparts.ie/PTO///510.1002


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 43

Components

8 AB2 - Cross 23.6x61

No. Description OEM Ref / Size Additional Information

1 FP16010 Cross 23.8x61.2 2.41 Standard Lubrication 8 hours

1a FP16010T Cross 23.8x61.2 2.41 Fastparts

2 FP16265 Quick Release Yoke 2.05.07 1.3/8 inch - 6 Spline

3 FP16325 Yoke - Inner Tube 2.07 Triangle Tube:29 X 3.5

4 FP16330 Yoke - Outer Tube 2.06 Triangle Tube:36 X 3.4

5 FP16012 Cross 23.8x61.2 2.41 Cap Lubrication

6 FP16265B Quick Release Yoke 2.05.07 1.3/8 inch - 6 Spline Collar

7 FP16635 Triangle Tube:29 X 3.5 2.04 Inner

8 FP16640 Triangle Tube:36 X 3.4 2.03 Outer

9 400.220638 Auto-Lok Yoke - 1.3/8 inch - 6 Spline

10 FP16863T Radial Pin Clutch 3 Row - 800Nm (Max) 1.3/8 inch - 6 Spline

11 510.2001 Inner Joint Complete 2.04 Inner

12 510.2002 Outer Joint Complete 2.03 Outer

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16265FP16010 FP16325 FP16330

FP16012 FP16265B FP16635 FP16640

400.220638 FP16863T 510.2001 510.2002

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16010
https://www.fastparts.ie/PTO///FP16265
https://www.fastparts.ie/PTO///FP16325
https://www.fastparts.ie/PTO///FP16330
https://www.fastparts.ie/PTO///FP16012
https://www.fastparts.ie/PTO///FP16265B
https://www.fastparts.ie/PTO///FP16635
https://www.fastparts.ie/PTO///FP16640
https://www.fastparts.ie/PTO///400.220638
https://www.fastparts.ie/PTO///FP16863T
https://www.fastparts.ie/PTO///510.2001
https://www.fastparts.ie/PTO///510.2002


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 44

Components

8 AB2 - Cross 23.6x61 (Continued)

No. Description OEM Ref / Size Additional Information

1 791.0121 Push Pin Set - 1.3/8 inch Yokes 47x13.85 (27x8) Weasler - Series AB1 to 9

2 FP08177 Joint Assembly Lely Stabilo 30mm Round Bore & 8mm Key x 2

3 FP08178 Joint Assembly Lely Rotonde 1.3/8 inch - 21 Spline x 2 

4 FP08192 Yoke End - Hex 27mm - Rozmital 

5 400.220325 Round Bore Yoke End - Ø25mm, 8mm Key, M10 Grub Screw

6 400.220330 Round Bore Yoke End - Ø30mm, 8mm Key, M12 Grub Screw

7 FP90506 Round Bore Yoke End Hardi Sprayer 30mm Tapered 

8 FP16604 Shearbolt Clutch - 1.3/8 inch - 6 Spline

9 FP16149 Overrun Clutch RH 56.140.40 1.3/8 inch - 6 Spline

10 550.220005121 Overrun Clutch RH 56.153.40 1.3/8 inch - 21 Spline

11 570.220032138 Radial Pin Clutch K32 600Nm - 2 Row 1.3/8 inch - 6 Spline

12 570.220033138 Radial Pin Clutch K33 900Nm - 3 Row 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP08177791.0121 FP08178 FP08192

400.220325 400.220330 FP90506 FP16604

FP16149 550.220005121 570.220032138 570.220033138

NEW
1211109

8765

4321

https://www.fastparts.ie/PTO///791.0121
https://www.fastparts.ie/PTO///FP08177
https://www.fastparts.ie/PTO///FP08178
https://www.fastparts.ie/PTO///FP08192
https://www.fastparts.ie/PTO///400.220325
https://www.fastparts.ie/PTO///400.220330
https://www.fastparts.ie/PTO///FP90506
https://www.fastparts.ie/PTO///FP16604
https://www.fastparts.ie/PTO///FP16149
https://www.fastparts.ie/PTO///550.220005121
https://www.fastparts.ie/PTO///570.220032138
https://www.fastparts.ie/PTO///570.220033138


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 45

PTO Shafts & Safety Guards

8 AB2 - Cross 23.6x61 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16914T PTO Shaft - Standard 610mm 1.3/8 inch - 6 Spline

2 FP16915T PTO Shaft - Standard 1010mm 1.3/8 inch - 6 Spline

3 FP16965B PTO Shaft - Extended Cone 1710mm Claas Liner * add your own clutch *

4 904-2500-101 Safety Guard C/W Bearing Rings 1010mm EasyLock Quick Fit System

5 904-2500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

6 FP16906 Safety Guard C/W Bearing Rings 1360mm Extended Cone to cover Radial Clutch

7 311.2502 Bearing Kit For Safety Guard 1 x 40mm & 1 x 47mm Weasler

8 FP16998 Chain For Safety Guard - -

9 FP16999 Easy Lock Grease Nipple - -

10 FP16935G Safety Guard C/W Bearing Rings 1360mm Fastparts

11 FP16915GB Bearing Ring Set 1 x 40mm & 1 x 47mm Fastparts 

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16915TFP16914T FP16965B 904-2500-101

904-2500-136 FP16906 311.2502 FP16998

FP16999 FP16935G FP16915GB

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16914T
https://www.fastparts.ie/PTO///FP16915T
https://www.fastparts.ie/PTO///FP16965B
https://www.fastparts.ie/PTO///904-2500-101
https://www.fastparts.ie/PTO///904-2500-136
https://www.fastparts.ie/PTO///FP16906
https://www.fastparts.ie/PTO///311.2502
https://www.fastparts.ie/PTO///FP16998
https://www.fastparts.ie/PTO///FP16999
https://www.fastparts.ie/PTO///FP16935G
https://www.fastparts.ie/PTO///FP16915GB


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 46

Components

9 AB3 - Cross 27x70

No. Description OEM Ref / Size Additional Information

1 FP16015 Cross  27x70 3.41 Standard Lubrication 8 hours

2 FP16270 Quick Release Yoke 3.05.07 1.3/8 inch - 6 Spline

3 FP16335 Yoke - Inner Tube 3.07 Triangle Tube:36 X 3.4

4 FP16340 Yoke - Outer Tube 3.06 Triangle Tube:43 X 3

5 647.311 Cross 27x70 41203 Extended Lubrication Intervals

6 FP16271 Quick Release Yoke 3.05.08 1.3/8 inch - 21 Spline

7 FP16640 Triangle Tube:36 X 3.4 2.03 Inner

8 FP16645T Triangle Tube:43 X 3 3.03 Outer

9 795.0865 Roll Pin 8x65 - -

10 791.0121 Push Pin Set - 1.3/8 inch Yokes 47x13.85 (27x8) Weasler - Series AB1 to 9

11 510.3001 Inner Joint Complete 2.03 1.3/8 inch - 6 Spline

12 510.3002 Outer Joint Complete 3.03 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16270FP16015 FP16335 FP16340

647.311 FP16271 FP16640 FP16645T

795.0865 791.0121 510.3001 510.3002

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16015
https://www.fastparts.ie/PTO///FP16270
https://www.fastparts.ie/PTO///FP16335
https://www.fastparts.ie/PTO///FP16340
https://www.fastparts.ie/PTO///647.311
https://www.fastparts.ie/PTO///FP16271
https://www.fastparts.ie/PTO///FP16640
https://www.fastparts.ie/PTO///FP16645T
https://www.fastparts.ie/PTO///795.0865
https://www.fastparts.ie/PTO///791.0121
https://www.fastparts.ie/PTO///510.3001
https://www.fastparts.ie/PTO///510.3002


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 47

Components & Safety Guards

9 AB3 - Cross 27x70 (Continued)

No. Description OEM Ref / Size Additional Information

1 570.311032138 Radial Pin Clutch K32 600Nm - 2 Row 1.3/8 inch - 6 Spline

2 570.311033138 Radial Pin Clutch K33 900Nm - 3 Row 1.3/8 inch - 6 Spline

3 904-2500-101 Safety Guard C/W Bearing Rings 1010mm EasyLock Quick Fit System

4 904-2500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

5 FP16906 Safety Guard C/W Bearing Rings 1360mm Extended Cone to cover Radial Clutch

6 311.2534 Bearing Kit For Safety Guard 1 x 46mm, 1 x 53mm EasyLock Quick Fit System

7 FP16998 Chain For Safety Guard - -

8 FP16999 Easy Lock Grease Nipple - -

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

570.311033138570.311032138 904-2500-101 904-2500-136

FP16906 311.2534 FP16998 FP16999

1211109

8765

4321

https://www.fastparts.ie/PTO///570.311032138
https://www.fastparts.ie/PTO///570.311033138
https://www.fastparts.ie/PTO///904-2500-101
https://www.fastparts.ie/PTO///904-2500-136
https://www.fastparts.ie/PTO///FP16906
https://www.fastparts.ie/PTO///311.2534
https://www.fastparts.ie/PTO///FP16998
https://www.fastparts.ie/PTO///FP16999


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 48

Components 

10 AB4 - Cross 27x74.6

No. Description OEM Ref / Size Additional Information

1 FP16020 Cross  27x74.6 4.41 Standard Lubrication 8 hours

2 FP16275 Quick Release Yoke 4.05.07 1.3/8 inch - 6 Spline

3 FP16345 Yoke - Inner Tube 4.07 Triangle Tube:36 X 4.5

4 FP16350 Yoke - Outer Tube 4.06 Triangle Tube:43 X 3

5 795.0865 Roll Pin 8x65 - -

6 FP16550 Quick Release Yoke End 4.05.08 1.3/8 inch - 21 Spline

7 FP16650 Triangle Tube:36 X 4.5 4.04 Inner

8 FP16645 Triangle Tube:43 X 3 3.03 Outer

9 FP16276 Safety Slide Yoke - 1.3/8 inch - 6 Spline

10 FP16275B End Yoke - Plastic Collar 4.05.07 1.3/8 inch - 6 Spline

11 510.4001 Inner Joint Complete 4.04 1.3/8 inch - 6 Spline

12 510.4002 Outer Joint Complete 3.03 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16275FP16020 FP16345 FP16350

795.0865 FP16550 FP16650 FP16645

FP16276 FP16275B 510.4001 510.4002

NEW
1211109

8765

4321

https://www.fastparts.ie/PTO///FP16020
https://www.fastparts.ie/PTO///FP16275
https://www.fastparts.ie/PTO///FP16345
https://www.fastparts.ie/PTO///FP16350
https://www.fastparts.ie/PTO///795.0865
https://www.fastparts.ie/PTO///FP16550
https://www.fastparts.ie/PTO///FP16650
https://www.fastparts.ie/PTO///FP16645
https://www.fastparts.ie/PTO///FP16276
https://www.fastparts.ie/PTO///FP16275B
https://www.fastparts.ie/PTO///510.4001
https://www.fastparts.ie/PTO///510.4002


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 49

Components 

10 AB4 - Cross 27x74.6 (Continued)

No. Description OEM Ref / Size Additional Information

1 400.421638 Auto-Lok Yoke - 1.3/8 inch - 6 Spline

2 400.421620 Auto-Lok Yoke - 1.3/4 inch - 20 Spline

3 400.4214120 End Yoke - Clamp Bolt - 1.3/4 inch - 20 Spline

4 FP16250 Round Bore Yoke End  - 25mm

5 FP16251 Round Bore Yoke End  - 30mm

6 FP16252 Round Bore Yoke End  - 35mm

7 FP16275T Quick Release Yoke End - 1.3/8 inch - 6 Spline

8 FP16895T Shearbolt Clutch 1480nm - M8x50 1.3/8 inch - 6 Spline

9 FP16600 Shearbolt Clutch 1600Nm - M8 1.3/8 inch - 6 Spline

10 FP16601 Shearbolt Clutch 1600Nm - M8 1.3/8 inch - 21 Spline

11 FP16102T Inner Joint Complete 4.04 1.3/8 inch - 6 Spline

12 FP16103T Outer Joint Complete 4.03 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

400.421620400.421638 400.4214120 FP16250

FP16251 FP16252 FP16275T FP16895T

FP16600 FP16601 FP16102T FP16103T

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///400.421638
https://www.fastparts.ie/PTO///400.421620
https://www.fastparts.ie/PTO///400.4214120
https://www.fastparts.ie/PTO///FP16250
https://www.fastparts.ie/PTO///FP16251
https://www.fastparts.ie/PTO///FP16252
https://www.fastparts.ie/PTO///FP16275T
https://www.fastparts.ie/PTO///FP16895T
https://www.fastparts.ie/PTO///FP16600
https://www.fastparts.ie/PTO///FP16601
https://www.fastparts.ie/PTO///FP16102T
https://www.fastparts.ie/PTO///FP16103T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 50

Components

10 AB4 - Cross 27x74.6 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16862T Radial Pin Clutch 3 Row - 800Nm (Max) 1.3/8 inch - 6 Spline

2 570.421033138 Radial Pin Clutch K33 3 Row - 900Nm 1.3/8 inch - 6 Spline

3 570.421034138 Radial Pin Clutch K34 4 Row - 1200Nm 1.3/8 inch - 6 Spline

4 FP16200T Cam & Spring Set - 2 Springs & 1 Cam

5 FP16145 Overrun Clutch RH 56.141.40 1.3/8 inch - 6 Spline

6 FP16771T Friction Clutch  1000Nm - 2 Disc 1.3/8 inch - 6 Spline

7 560.421090138 Friction Clutch 2 Discs - 900Nm 1.3/8 inch - 6 Spline (Disc FP16226)

8 FP16226 Friction Clutch Disc - 140x85x3.5

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

570.421033138FP16862T 570.421034138 FP16200T

FP16145 FP16771T 560.421090138 FP16226

NEW
NEW

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16862T
https://www.fastparts.ie/PTO///570.421033138
https://www.fastparts.ie/PTO///570.421034138
https://www.fastparts.ie/PTO///FP16200T
https://www.fastparts.ie/PTO///FP16145
https://www.fastparts.ie/PTO///FP16771T
https://www.fastparts.ie/PTO///560.421090138
https://www.fastparts.ie/PTO///FP16226


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 51

Components - Wide Angle

10 AB4 - Cross 27x74.6 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16021 Cross 27x74.6/24x91 21.06.00 Standard Lubrication 8 hours

2 FP16887 Quick Release Yoke End - 1.3/8 inch - 6 Spline

3 FP16650 Triangle Tube:36 X 4.5 4.04 Inner

4 FP16645 Triangle Tube:43 X 3 3.03 Outer

5 FP16888 Quick Release Yoke End - 1.3/8 inch - 21 Spline

6 428.421134 Quick Release Yoke End - 1.3/4 inch - 6 Spline

7 418.400243 Yoke - Outer Tube - Triangle Tube:43 X 3

8 518.400002 Outer Joint Complete - 1.3/8 inch - 6 Spline

9 428.421120 Quick Release Yoke End - 1.3/4 inch - 20 Spline

10 FP16021T Cross 27x74.6/24x91 Fastparts -

11 FP16850T Quick Release Yoke End Fastparts 1.3/8 inch - 6 Spline

12 FP16870T Inner Joint Complete Fastparts 4.04 Triangle Tube 

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16887FP16021 FP16650 FP16645

FP16888 428.421134 418.400243 518.400002

428.421120 FP16021T FP16850T FP16870T

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16021
https://www.fastparts.ie/PTO///FP16887
https://www.fastparts.ie/PTO///FP16650
https://www.fastparts.ie/PTO///FP16645
https://www.fastparts.ie/PTO///FP16888
https://www.fastparts.ie/PTO///428.421134
https://www.fastparts.ie/PTO///418.400243
https://www.fastparts.ie/PTO///518.400002
https://www.fastparts.ie/PTO///428.421120
https://www.fastparts.ie/PTO///FP16021T
https://www.fastparts.ie/PTO///FP16850T
https://www.fastparts.ie/PTO///FP16870T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 52

PTO Shafts 

10 AB4 - Cross 27x74.6 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16935T PTO Shaft - Standard 860mm 1.3/8 inch - 6 Spline

2 FP16927 PTO Shaft - Standard 1010mm 1.3/8 inch - 6 Spline

3 FP16972T PTO Shaft - Shearbolt Clutch 1010mm - 1480Nm 1.3/8 inch - 6 Spline

4 FP16972B PTO Shaft - Shearbolt Clutch 1160mm - 1700Nm 1.3/8 inch - 6 Spline

5 FP16973T PTO Shaft - Shearbolt Clutch 1360mm - 1480Nm 1.3/8 inch - 6 Spline

6 FP16940T PTO Shaft - Shearbolt & Overrun 1360mm - 1480Nm 1.3/8 inch - 6 Spline

7 FP16905T PTO Shaft - Friction Clutch 2 Disc 860mm - 1000Nm 1.3/8 inch - 6 Spline

8 FP16990T PTO Shaft - Wide Angle 1010mm 1.3/8 inch - 6 Spline

9 FP16993T PTO Shaft WA - Shearbolt Clutch 1010mm - 1700Nm 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16927FP16935T FP16972T FP16972B

FP16973T FP16940T FP16905T FP16990T

FP16993T

NEW
1211109

8765

4321

https://www.fastparts.ie/PTO///FP16927
https://www.fastparts.ie/PTO///FP16972B
https://www.fastparts.ie/PTO///FP16935T
https://www.fastparts.ie/PTO///FP16972T
https://www.fastparts.ie/PTO///FP16973T
https://www.fastparts.ie/PTO///FP16940T
https://www.fastparts.ie/PTO///FP16905T
https://www.fastparts.ie/PTO///FP16990T
https://www.fastparts.ie/PTO///FP16993T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 53

Safety Guards

10 AB4 - Cross 27x74.6 (Continued)

No. Description OEM Ref / Size Additional Information

1 904-2500-101 Safety Guard C/W Bearing Rings 1010mm Weasler EasyLock 

2 904-2500-136 Safety Guard C/W Bearing Rings 1360mm Weasler EasyLock 

3 FP16906 Safety Guard C/W Bearing Rings 1360mm Weasler EasyLock 

4 311.2534 Bearing Kit For Safety Guard 1 x 46mm, 1 x 53mm Weasler EasyLock 

5 FP16998 Chain For Safety Guard - Universal

6 361.2100 Guard Cone - Includes Bearing Ring

7 FP166004 Safety Guard C/W Bearing Rings 1360mm Benzi Energy

8 FP16935G Safety Guard C/W Bearing Rings 1360mm Fastparts

9 FP16904G Safety Guard C/W Bearing Rings 1360mm Fastparts - Extended Cone

10 FP5447 Bearing Ring Set 1 x 47mm, 1 x 54mm Fastparts

11 FP16990TG Safety Guard C/W Bearing Rings 1010mm - Wide Angle Fastparts

12 3800.25136 Safety Guard C/W Bearing Rings 1360mm - Wide Angle EasyLock Quick Fit System

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

904-2500-136904-2500-101 FP16906 311.2534

FP16998 361.2100 FP166004 FP16935G

FP16904G FP5447 FP16990TG 3800.25136

NEW

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///904-2500-101
https://www.fastparts.ie/PTO///904-2500-136
https://www.fastparts.ie/PTO///FP16906
https://www.fastparts.ie/PTO///311.2534
https://www.fastparts.ie/PTO///FP16998
https://www.fastparts.ie/PTO///361.2100
https://www.fastparts.ie/PTO///FP166004
https://www.fastparts.ie/PTO///FP16935G
https://www.fastparts.ie/PTO///FP16904G
https://www.fastparts.ie/PTO///FP5447
https://www.fastparts.ie/PTO///FP16990TG
https://www.fastparts.ie/PTO///3800.25136


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 54

Components 

10 AB5 - Cross 30.2x79.4

No. Description OEM Ref / Size Additional Information

1 FP16025 Cross  30.2x79.4 5.41 Standard Lubrication 8 hours

2 FP16280 Quick Release Yoke End 5.05.07 1.3/8 inch - 6 Spline

3 FP16355 Yoke - Inner Tube 5.07 Triangle Tube:45 X 4

4 FP16360 Yoke - Outer Tube 5.06 Triangle Tube:52 X 3

5 647.500 Cross 30.2x79.4 5.41 Extended Lubrication Intervals

6 FP16281 Quick Release Yoke End 5.05.08 1.3/8 inch - 21 Spline

7 FP16655T Triangle Tube:45 X 4 5.04 Inner

8 FP16660T Triangle Tube:52 X 3 5.03 Outer

9 FP16280B End Yoke - Plastic Collar 5.05.07 1.3/8 inch - 6 Spline

10 FP16282 End Yoke - Slide Lock - 1.3/8 inch - 6 Spline

11 510.5001 Inner Joint Complete 5.04 1.3/8 inch - 6 Spline

12 510.5002 Outer Joint Complete 5.03 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16280FP16025 FP16355 FP16360

647.500 FP16281 FP16655T FP16660T

FP16280B FP16282 510.5001 510.5002

NEW
1211109

8765

4321

https://www.fastparts.ie/PTO///FP16025
https://www.fastparts.ie/PTO///FP16280
https://www.fastparts.ie/PTO///FP16355
https://www.fastparts.ie/PTO///FP16360
https://www.fastparts.ie/PTO///647.500
https://www.fastparts.ie/PTO///FP16281
https://www.fastparts.ie/PTO///FP16655T
https://www.fastparts.ie/PTO///FP16660T
https://www.fastparts.ie/PTO///FP16280B
https://www.fastparts.ie/PTO///FP16282
https://www.fastparts.ie/PTO///510.5001
https://www.fastparts.ie/PTO///510.5002


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 55

Components 

10 AB5 - Cross 30.2x79.4 (Continued)

No. Description OEM Ref / Size Additional Information

1 410.5004138 Bolt Clamp Yoke End - 1.3/8 inch - 6 Spline

2 410.500134 Quick Release Yoke End - 1.3/4 inch - 6 Spline

3 410.500620 Auto-Lok Yoke - 1.3/4 inch - 20 Spline

4 FP16253 Round Bore Yoke End  - 30mm, 8mm Key, M12 Grub Screw

5 410.500335 Round Bore Yoke End  - 35mm, 10mm Key, M12 Grub Screw

6 791.0121 Push Pin Set - 1.3/8 inch Yokes 47x13.85 (27x8) Weasler - Series AB1 to 9

7 795.1080 Roll Pin 10x80mm - -

8 FP16897 Shearbolt Clutch 2920Nm - M10 1.3/8 inch - 6 Spline

8a FP16897T Shearbolt Clutch 1800Nm - M8 1.3/8 inch - 6 Spline

9 550.500005138 Overrun Clutch RH AB5RA 1.3/8 inch - 6 Spline

10 570.500033138 Radial Pin Clutch K33 3 Row - 900Nm 1.3/8 inch - 6 Spline

10a FP16860T Radial Pin Clutch K33 3 Row - 800Nm 1.3/8 inch - 6 Spline

11 560.500125438 Friction Clutch  1250Nm - 2 Disc 1.3/8 inch - 6 Spline

12 FP16221 Friction Clutch Disc 160x97x3.5

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

410.500134410.5004138 410.500620 FP16253

410.500335 791.0121 795.1080 FP16897

550.500005138 570.500033138 560.500125438 FP16221

1211109

8765

4321

https://www.fastparts.ie/PTO///410.5004138
https://www.fastparts.ie/PTO///410.500134
https://www.fastparts.ie/PTO///410.500620
https://www.fastparts.ie/PTO///FP16253
https://www.fastparts.ie/PTO///410.500335
https://www.fastparts.ie/PTO///791.0121
https://www.fastparts.ie/PTO///795.1080
https://www.fastparts.ie/PTO///FP16897
https://www.fastparts.ie/PTO///550.500005138
https://www.fastparts.ie/PTO///570.500033138
https://www.fastparts.ie/PTO///560.500125438
https://www.fastparts.ie/PTO///FP16221


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 56

Components - Economy

10 AB5 - Cross 30.2x79.4 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16280T Quick Release Yoke End - 1.3/8 inch - 6 Spline

2 FP16897T Shearbolt Clutch  1800Nm - M8x50 1.3/8 inch - 6 Spline

3 FP16104T Inner Joint Complete 5.04 1.3/8 inch - 6 Spline

4 FP16105T Outer Joint Complete 5.03 1.3/8 inch - 6 Spline

5 FP16860T Radial Pin Clutch 3 Row - 800Nm (Max) 1.3/8 inch - 6 Spline

6 FP16200T Cam & Spring Set - 2 Springs & 1 Cam

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16897TFP16280T FP16104T FP16105T

FP16860T FP16200T

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16280T
https://www.fastparts.ie/PTO///FP16897T
https://www.fastparts.ie/PTO///FP16104T
https://www.fastparts.ie/PTO///FP16105T
https://www.fastparts.ie/PTO///FP16860T
https://www.fastparts.ie/PTO///FP16200T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 57

PTO Shafts & Safety Guards 

10 AB5 - Cross 30.2x79.4 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16975T PTO Shaft - Standard 1010mm 1.3/8 inch - 6 Spline

2 FP16976T PTO Shaft - Shearbolt Clutch 1010mm - 2100Nm 1.3/8 inch - 6 Spline

3 FP16982T PTO Shaft - Shearbolt & Overrun 1010mm - 2100Nm 1.3/8 inch-6S SB | 1.3/8 inch-6S Overrun

4 FP16974T PTO Shaft - Radial Pin Clutch 1360mm - 800Nm 1.3/8 inch - 6 Spline 

5 FP16951G Safety Guard C/W Bearing Rings 1000mm Fastparts

6 FP16975G Safety Guard C/W Bearing Rings 1360mm Fastparts

7 FP685595 Bearing Ring Set 1 x 60mm, 1 x 68mm Fastparts

8 FP16998 Chain For Safety Guard - Universal

9 904-3500-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

10 904-3500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

11 311.3505 Bearing Kit For Safety Guard 1 x 53mm, 1 x 62mm EasyLock Quick Fit System

12 FP16999 Easy Lock Grease Nipple - EasyLock Quick Fit System

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16976TFP16975T FP16982T FP16974T

FP16951G FP16975G FP685595 FP16998

904-3500-086 904-3500-136 311.3505 FP16999

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16975T
https://www.fastparts.ie/PTO///FP16976T
https://www.fastparts.ie/PTO///FP16982T
https://www.fastparts.ie/PTO///FP16974T
https://www.fastparts.ie/PTO///FP16951G
https://www.fastparts.ie/PTO///FP16975G
https://www.fastparts.ie/PTO///FP685595
https://www.fastparts.ie/PTO///FP16998
https://www.fastparts.ie/PTO///904-3500-086
https://www.fastparts.ie/PTO///904-3500-136
https://www.fastparts.ie/PTO///311.3505
https://www.fastparts.ie/PTO///FP16999


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 58

Components 

10 AB6 - Cross 30.2x92

No. Description OEM Ref / Size Additional Information

1 FP16030 Cross  30.2x92 6.41 Standard Lubrication 8 hours

2 FP16285 Quick Release Yoke End 6.05.07 1.3/8 inch - 6 Spline

3 FP16365 Yoke - Inner Tube 6.07 Triangle Tube:45 X 4

4 FP16370 Yoke - Outer Tube 6.06 Triangle Tube:54 X 4

5 647.622 Cross  30.2x92 6.41 Extended Lubrication Intervals

6 FP16286 Quick Release Yoke End 6.05.08 1.3/8 inch - 21 Spline

7 FP16655T Triangle Tube:45 X 4 5.04 Inner

8 FP16665T Triangle Tube:54 X 4 6.03 Outer

9 FP16289 Safety Slide Yoke - 1.3/8 inch - 6 Spline

10 FP16285B End Yoke - Plastic Collar - 1.3/8 inch - 6 Spline

11 510.6001 Inner Joint Complete 5.04 1.3/8 inch - 6 Spline

12 510.6002 Outer Joint Complete 6.03 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16285FP16030 FP16365 FP16370

647.622 FP16286 FP16655T FP16665T

FP16289 FP16285B 510.6001 510.6002

NEW
1211109

8765

4321

https://www.fastparts.ie/PTO///FP16030
https://www.fastparts.ie/PTO///FP16285
https://www.fastparts.ie/PTO///FP16365
https://www.fastparts.ie/PTO///FP16370
https://www.fastparts.ie/PTO///647.622
https://www.fastparts.ie/PTO///FP16286
https://www.fastparts.ie/PTO///FP16655T
https://www.fastparts.ie/PTO///FP16665T
https://www.fastparts.ie/PTO///FP16289
https://www.fastparts.ie/PTO///FP16285B
https://www.fastparts.ie/PTO///510.6001
https://www.fastparts.ie/PTO///510.6002


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 59

Components 

10 AB6 - Cross 30.2x92 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16030T Cross  30.2x92 6.41 Fastparts

2 FP16285T Quick Release Yoke End - 1.3/8 inch - 6 Spline

3 FP16106T Inner Joint Complete 6.04 1.3/8 inch - 6 Spline

4 FP16107T Outer Joint Complete 6.03 1.3/8 inch - 6 Spline

5 795.1080 Roll Pin 10x80 - -

6 400.622634 Auto-Lok Yoke End - 1.3/4 inch - 6 Spline

7 FP16287 Quick Release Yoke End 22.18.00 1.3/4 inch - 6 Spline

8 FP16288 Quick Release Yoke End 22.18.12 1.3/4 inch - 20 Spline

9 400.622335 Round Bore Yoke End  - 35mm

10 400.622435 Round Bore Yoke End - Bolt Clamp - 35mm - Interferring

11 995-00487 Yoke Assembly Complete Abbey 40mm, 12mm Key/35mm, 10mm Key

12 994-00630 Clamp Yoke Round Bore Abbey 40mm, 12mm Keyway

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16285TFP16030T FP16106T FP16107T

795.1080 400.622634 FP16287 FP16288

400.622335 400.622435 995-00487 994-00630

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16030T
https://www.fastparts.ie/PTO///FP16285T
https://www.fastparts.ie/PTO///FP16106T
https://www.fastparts.ie/PTO///FP16107T
https://www.fastparts.ie/PTO///795.1080
https://www.fastparts.ie/PTO///400.622634
https://www.fastparts.ie/PTO///FP16287
https://www.fastparts.ie/PTO///FP16288
https://www.fastparts.ie/PTO///400.622335
https://www.fastparts.ie/PTO///400.622435
https://www.fastparts.ie/PTO///995-00487
https://www.fastparts.ie/PTO///994-00630


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 60

Components 

10 AB6 - Cross 30.2x92

No. Description OEM Ref / Size Additional Information

1 FP16899T Shearbolt Clutch    2100Nm - M8x60 1.3/8 inch - 6 Spline

2 FP16898T Shearbolt Clutch  2500Nm - M10x60 1.3/8 inch - 6 Spline

3 FP16899 Shearbolt Clutch 2920Nm 1.3/8 inch - 6 Spline

4 FP16898 Shearbolt Clutch 2920Nm 1.3/8 inch - 21 Spline

5 81271-2010 Inner Hub For Shearbolt - 1.3/8 inch - 6 Spline

6 81280-2228 Inner Hub For Shearbolt  - 1.3/4 inch - 6 Spline

7 FP16144 Overrun Clutch RH - 1.3/8 inch - 6 Spline

8 FP16150 Overrun Clutch LH - 1.3/8 inch - 6 Spline

9 560.622125438 Friction Clutch 1250Nm - 4 Disc 1.3/8 inch - 6 Spline

10 FP16221 Friction Clutch Disc - 160x97x3.5

11 791.0121 Push Pin Set - 1.3/8 inch Yokes 47x13.85 (27x8) Weasler - Series AB1 to 9

12 FP16861T Radial Pin Clutch K34 4 Row - 1200Nm 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

LH

FP16898TFP16899T FP16899 FP16898

81271-2010 81280-2228 FP16144 FP16150

560.622125438 FP16221 791.0121 FP16861T

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16899T
https://www.fastparts.ie/PTO///FP16898T
https://www.fastparts.ie/PTO///FP16899
https://www.fastparts.ie/PTO///FP16898
https://www.fastparts.ie/PTO///81271-2010
https://www.fastparts.ie/PTO///81280-2228
https://www.fastparts.ie/PTO///FP16144
https://www.fastparts.ie/PTO///FP16150
https://www.fastparts.ie/PTO///560.622125438
https://www.fastparts.ie/PTO///FP16221
https://www.fastparts.ie/PTO///791.0121
https://www.fastparts.ie/PTO///FP16861T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 61

Components 

10 AB6 - Cross 30.2x92 (Continued)

No. Description OEM Ref / Size Additional Information

1 541.6220004138 Free-Motion Yoke - 1.3/8 inch - 6 Spline

2 541.6220004120 Free-Motion Yoke - 1.3/4 inch - 20 Spline

3 AUTO 1350 Automatic Clutch Pack - 1350Nm

4 AUTO 1700 Automatic Clutch Pack - 1700Nm

5 AUTO 2000 Automatic Clutch Pack - 2000Nm

6 AUTO 2400 Automatic Clutch Pack - 2400Nm

7 AUTO 2750 Automatic Clutch Pack - 2750Nm

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

541.6220004120541.6220004138 AUTO 1350 AUTO 1700

AUTO 2000 AUTO 2400 AUTO 2750

1211109

8765

4321

https://www.fastparts.ie/PTO///541.6220004138
https://www.fastparts.ie/PTO///541.6220004120
https://www.fastparts.ie/PTO///AUTO 1350
https://www.fastparts.ie/PTO///AUTO 1700
https://www.fastparts.ie/PTO///AUTO 2000
https://www.fastparts.ie/PTO///AUTO 2400
https://www.fastparts.ie/PTO///AUTO 2750


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 62

Components - Wide Angle 

10 AB6 - Cross 30.2x92 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16041 Cross 32x76/27x94 35.06.00 Standard Lubrication 8 hours

2 428.035638 Auto-Lok Yoke Weasler 1.3/8 inch - 6 Spline

3 418.635245 Yoke - Inner Tube Tube Weasler Triangle Tube:45 X 4

4 FP16895 Centre Piece Weasler -

5 FP16886 Quick Release Yoke End Weasler 1.3/8 inch - 21 Spline

6 428.035120 Quick Release Yoke End Weasler 1.3/4 inch - 20 Spline

7 518.600001 Inner Joint Complete Triangle Tube:45 X 4 1.3/8 inch - 6 Spline

8 518.600002 Outer Joint Complete Triangle Tube:54 X 4 1.3/8 inch - 6 Spline

9 FP16031T Cross  30.2x92/27x100 Fastparts Unequal Arm

10 FP16855T Quick Release Yoke End Fastparts 1.3/8 inch - 6 Spline

11 FP16871T Inner Joint Complete Fastparts 1.3/8 inch - 6 Spline

12 FP16872T Outer Joint Complete Fastparts 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

428.035638FP16041 418.635245 FP16895

FP16886 428.035120 518.600001 518.600002

FP16031T FP16855T FP16871T FP16872T

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16041
https://www.fastparts.ie/PTO///428.035638
https://www.fastparts.ie/PTO///418.635245
https://www.fastparts.ie/PTO///FP16895
https://www.fastparts.ie/PTO///FP16886
https://www.fastparts.ie/PTO///428.035120
https://www.fastparts.ie/PTO///518.600001
https://www.fastparts.ie/PTO///518.600002
https://www.fastparts.ie/PTO///FP16031T
https://www.fastparts.ie/PTO///FP16855T
https://www.fastparts.ie/PTO///FP16871T
https://www.fastparts.ie/PTO///FP16872T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 63

PTO Shafts

10 AB6 - Cross 30.2x92 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16951T PTO Shaft - Standard 1010mm 1.3/8 inch - 6 Spline

2 FP16953T PTO Shaft - Standard 1500mm 1.3/8 inch - 6 Spline

3 FP16978T PTO Shaft - Shearbolt Clutch 1360mm - 2500Nm 1.3/8 inch - 6 Spline

4 FP16945T PTO Shaft - Shearbolt & Overrun 1360mm - 2500Nm 1.3/8 inch-6S SB | 1.3/8 inch-6S Overrun

5 FP16962T PTO Shaft - Overrun Clutch 1200mm 1.3/8 inch - 6 Spline

6 FP16961T PTO Shaft - Radial Pin Clutch 1360mm - 1200Nm 1.3/8 inch - 6 Spline

7 FP16881B PTO Shaft - Overrun Clutch 1100mm 1.3/8 inch - 6 Spline 

8 1680-6600-16622 PTO Shaft - Shearbolt Clutch 1660mm - 2920Nm 1.3/8 inch - 6 Spline 

9 1680-6604-15122 PTO Shaft - Shearbolt Clutch 1510mm - 2920Nm 1.3/8 inch - 6S | 1.3/4 inch - 6S

10 FP16992T PTO Shaft Wide Angle 1360mm 1.3/8 inch - 6 Spline

11 FP16994T PTO Shaft Wide Angle - Shearbolt Clutch 1000mm - 2100Nm 1.3/8 inch - 6 Spline

12 FP16995T PTO Shaft Wide Angle - Shearbolt Clutch 1360mm - 2500Nm 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16953TFP16951T FP16978T FP16945T

FP16962T FP16961T FP16881B 1680-6600-16622

1680-6604-15122 FP16992T FP16994T FP16995T

NEW

NEW

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16951T
https://www.fastparts.ie/PTO///FP16953T
https://www.fastparts.ie/PTO///FP16978T
https://www.fastparts.ie/PTO///FP16945T
https://www.fastparts.ie/PTO///FP16962T
https://www.fastparts.ie/PTO///FP16961T
https://www.fastparts.ie/PTO///FP16881B
https://www.fastparts.ie/PTO///1680-6600-16622
https://www.fastparts.ie/PTO///1680-6604-15122
https://www.fastparts.ie/PTO///FP16992T
https://www.fastparts.ie/PTO///FP16994T
https://www.fastparts.ie/PTO///FP16995T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 64

Safety Guards & Bearing Rings

10 AB6 - Cross 30.2x92 (Continued)

No. Description OEM Ref / Size Additional Information

1 904-3500-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

2 904-3500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

3 311.3567 Bearing Kit For Safety Guard 961-3567 EasyLock Quick Fit System

4 FP16951G Safety Guard C/W Bearing Rings 1000mm Fastparts

5 FP16975G Safety Guard C/W Bearing Rings 1360mm Fastparts

6 FP685595 Bearing Ring Set 1 x 60mm, 1 x 68mm Fastparts

7 3800.35136 Safety Guard - No Bearings 1360mm Weasler EUCV - Wide Angle

8 3580.0600 Bearing Kit For Safety Guard 967-0600 Weasler EUCV - Wide Angle

9 361.3100 Guard Cone & Bearing Ring Ring Size Ø120mm ID Weasler EUCV - Wide Angle

10 3100.352136 Safety Guard - No Bearing Kit  1360mm Weasler WWCV - Wide Angle

11 968-0607 Bearing Kit For Safety Guard 1 x 54mm, 1 x 68mm Weasler WWCV - Wide Angle

12 FP16992TG Safety Guard C/W Bearing Rings 1360mm Fastparts  - Wide Angle

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

904-3500-136904-3500-086 311.3567 FP16951G

FP16975G FP685595 3800.35136 3580.0600

361.3100 3100.352136 968-0607 FP16992TG

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///904-3500-086
https://www.fastparts.ie/PTO///904-3500-136
https://www.fastparts.ie/PTO///311.3567
https://www.fastparts.ie/PTO///FP16951G
https://www.fastparts.ie/PTO///FP16975G
https://www.fastparts.ie/PTO///FP685595
https://www.fastparts.ie/PTO///3800.35136
https://www.fastparts.ie/PTO///3580.0600
https://www.fastparts.ie/PTO///361.3100
https://www.fastparts.ie/PTO///3100.352136
https://www.fastparts.ie/PTO///968-0607
https://www.fastparts.ie/PTO///FP16992TG


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 65

Components 

10 AB7 (Old) - Cross 

No. Description OEM Ref / Size Additional Information

1 FP16035 Cross  30.2x106.3 7.41 Standard Lubrication 8 hours

2 FP16290 Quick Release Yoke End 7.05.07 1.3/8 inch - 6 Spline

3 FP16375 Yoke - Inner Tube 7.07 Triangle Tube:45 X 5

4 FP16380 Yoke - Outer Tube 7.06 Triangle Tube:54 X 4

5 795.1085 Roll Pin 10x85 - -

6 FP16294 Quick Release Yoke End - 1.3/8 inch - 21 Spline, 2 Push Pin

7 FP16668 Triangle Tube:45 X 5 7.04 Inner

8 FP16665T Triangle Tube:54 X 4 6.03 Outer

9 791.0121 Push Pin Set - 1.3/8 inch Yokes 47x13.85 (27x8) Weasler - Series AB1 to 9

10 FP16290T Quick Release Yoke End - 1.3/8 inch - 6 Spline

11 FP16896T Shearbolt Clutch 2500Nm 1.3/8 inch - 6 Spline

12 FP16770T Friction Clutch 1800Nm - 2 Disc 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16290FP16035 FP16375 FP16380

795.1085 FP16294 FP16668 FP16665T

791.0121 FP16290T FP16896T FP16770T

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16035
https://www.fastparts.ie/PTO///FP16290
https://www.fastparts.ie/PTO///FP16375
https://www.fastparts.ie/PTO///FP16380
https://www.fastparts.ie/PTO///795.1085
https://www.fastparts.ie/PTO///FP16294
https://www.fastparts.ie/PTO///FP16668
https://www.fastparts.ie/PTO///FP16665T
https://www.fastparts.ie/PTO///791.0121
https://www.fastparts.ie/PTO///FP16290T
https://www.fastparts.ie/PTO///FP16896T
https://www.fastparts.ie/PTO///FP16770T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 66

PTO Shafts & Safety Guards

10 AB7 (Old) - Cross (Continued) 

No. Description OEM Ref / Size Additional Information

1 FP16979T PTO Shaft - Star 1010mm Old Howard Rotavators

2 904-3500-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

3 904-3500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

4 311.3567 Bearing Kit For Safety Guard 1 x 59mm, 1 x 68mm EasyLock Quick Fit System

5 FP16951G Safety Guard C/W Bearing Rings 1000mm Fastparts

6 FP16975G Safety Guard C/W Bearing Rings 1360mm Fastparts

7 FP685595 Bearing Ring Set 1 x 60mm, 1 x 68mm Fastparts

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

904-3500-086FP16979T 904-3500-136 311.3567

FP16951G FP16975G FP685595

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16979T
https://www.fastparts.ie/PTO///904-3500-086
https://www.fastparts.ie/PTO///904-3500-136
https://www.fastparts.ie/PTO///311.3567
https://www.fastparts.ie/PTO///FP16951G
https://www.fastparts.ie/PTO///FP16975G
https://www.fastparts.ie/PTO///FP685595


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 67

Components 

11 AB7 (New) - Cross 34.9x94

No. Description OEM Ref / Size Additional Information

1 FP16036 Cross 34.9x94 41207 Standard Lubrication 8 hours

2 FP16291 Quick Release Yoke End 507170351 1.3/8 inch - 6 Spline

3 FP16376 Yoke - Inner Tube - Triangle Tube:45 X 5

4 FP16381 Yoke - Outer Tube 7.07 Triangle Tube:54 X 4

5 795.1085 Roll Pin 10x85 - -

6 FP16292 Quick Release Yoke End 507173751 1.3/8 inch - 21 Spline

7 FP16668 Triangle Tube:45 X 5 7.04 Inner

8 FP16665 Triangle Tube:54 X 4 6.03 Outer

9 647.700 Cross 34.9x94 41207 Extended Lubrication Intervals

10 FP16293 Quick Release Yoke End 507173851 1.3/4 inch - 20 Spline

11 560.770200438 Friction Clutch 2000Nm - 4 Plate 1.3/8 inch - 6 Spline Clamp Bolt

12 FP16226 Friction Clutch Disc - 140x85x3.5

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16291FP16036 FP16376 FP16381

795.1085 FP16292 FP16668 FP16665

647.700 FP16293 560.770200438 FP16226

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16036
https://www.fastparts.ie/PTO///FP16291
https://www.fastparts.ie/PTO///FP16376
https://www.fastparts.ie/PTO///FP16381
https://www.fastparts.ie/PTO///795.1085
https://www.fastparts.ie/PTO///FP16292
https://www.fastparts.ie/PTO///FP16668
https://www.fastparts.ie/PTO///FP16665
https://www.fastparts.ie/PTO///647.700
https://www.fastparts.ie/PTO///FP16293
https://www.fastparts.ie/PTO///560.770200438
https://www.fastparts.ie/PTO///FP16226


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 68

Safety Guards

AB7 (New) - Cross 34.9x94 (Continued)

No. Description OEM Ref / Size Additional Information

1 904-3500-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

2 904-3500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

3 311.3567 Bearing Kit For Safety Guard 1 x 59mm, 1 x 68mm -

4 FP16998 Chain For Safety Guard - -

5 FP16999 Easy Lock Grease Nipple - -

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

904-3500-136904-3500-086 311.3567 FP16998

FP16999

1211109

8765

4321

https://www.fastparts.ie/PTO///904-3500-086
https://www.fastparts.ie/PTO///904-3500-136
https://www.fastparts.ie/PTO///311.3567
https://www.fastparts.ie/PTO///FP16998
https://www.fastparts.ie/PTO///FP16999


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 69

Components 

12 AB8 - Cross 35x106

No. Description OEM Ref / Size Additional Information

1 FP16050 Cross  34.9x106.5 8.41 Standard Lubrication 8 hours

2 FP16305 Quick Release Yoke End 8.08.07 1.3/8 inch - 6 Spline

3 FP16385 Yoke - Inner Tube 8.07 Triangle Tube:54 X 4

4 FP16390 Yoke - Outer Tube 8.06 Triangle Tube:63 X 4

5 FP16307 Safety Slide Yoke 8.08.07 1.3/8 inch - 6 Spline

6 FP16305B End Yoke - Plastic Collar 8.08.07 1.3/8 inch - 6 Spline

7 FP16665T Triangle Tube:54 X 4 6.03 Inner

8 FP16669B Triangle Tube:63 X 4 8.03 Outer

9 FP16306 Quick Release Yoke End 8.05.08 1.3/8 inch - 21 Spline

10 400.8244121 Bolt Clamp Yoke End - 1.3/8 inch - 21 Spline

11 510.8001 Inner Joint Complete - Triangle Tube:54 X 4

12 300-6845 Yoke - Inner Tube - Redrock 8.08 Triangle Tube:45 X 4

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16305FP16050 FP16385 FP16390

FP16307 FP16305B FP16665T FP16669B

FP16306 400.8244121 510.8001 300-6845

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16050
https://www.fastparts.ie/PTO///FP16305
https://www.fastparts.ie/PTO///FP16385
https://www.fastparts.ie/PTO///FP16390
https://www.fastparts.ie/PTO///FP16307
https://www.fastparts.ie/PTO///FP16305B
https://www.fastparts.ie/PTO///FP16665T
https://www.fastparts.ie/PTO///FP16669B
https://www.fastparts.ie/PTO///FP16306
https://www.fastparts.ie/PTO///400.8244121
https://www.fastparts.ie/PTO///510.8001
https://www.fastparts.ie/PTO///300-6845


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 70

Components 

12 AB8 - Cross 35x106 (Continued)

No. Description OEM Ref / Size Additional Information

1 795.1290 Roll Pin 12x90 - -

2 400.824634 Auto-Lok Yoke - 1.3/4 inch - 6 Spline

3 400.824134 Quick Release Yoke End - 1.3/4 inch - 6 Spline

4 400.824120 Quick Release Yoke End - 1.3/4 inch - 20 Spline

5 FP16305T Quick Release Yoke End - 1.3/8 inch - 6 Spline

6 FP16108T Inner Joint Complete 8.04,  53.6 x 5 1.3/8 inch - 6 Spline

7 FP16109T Outer Joint Complete 8.03,  62.7 x 4 1.3/8 inch - 6 Spline

8 FP16772T Friction Clutch  2300Nm - 4 Disc 1.3/8 inch - 6 Spline

9 FP16773T Friction Clutch 2300Nm - 4 Disc 1.3/4 inch - 6 Spline

10 560.824200438 Friction Clutch 2000Nm - 4 Disc 1.3/8 inch - 6 Spline, CBI X 2

11 560.824150438 Friction Clutch 1500Nm - 4 Disc 1.3/8 inch - 6 Spline, CBI X 2

12 FP16221 Friction Clutch Disc - 160x97x3.5

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

400.824634795.1290 400.824134 400.824120

FP16305T FP16108T FP16109T FP16772T

FP16773T 560.824200438 560.824150438 FP16221

NEW

NEW
1211109

8765

4321

https://www.fastparts.ie/PTO///795.1290
https://www.fastparts.ie/PTO///400.824634
https://www.fastparts.ie/PTO///400.824134
https://www.fastparts.ie/PTO///400.824120
https://www.fastparts.ie/PTO///FP16305T
https://www.fastparts.ie/PTO///FP16108T
https://www.fastparts.ie/PTO///FP16109T
https://www.fastparts.ie/PTO///FP16772T
https://www.fastparts.ie/PTO///FP16773T
https://www.fastparts.ie/PTO///560.824200438
https://www.fastparts.ie/PTO///560.824150438
https://www.fastparts.ie/PTO///FP16221


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 71

Components 

12 AB8 - Cross 35x106 (Continued)

No. Description OEM Ref / Size Additional Information

1 580.8245612138 Shearbolt Clutch 4180Nm - M12x56 1.3/8 inch - 6 Spline

2 580.8245612121 Shearbolt Clutch 4180Nm - M12x56 1.3/8 inch - 21 Spline

3 580.8245612134 Shearbolt Clutch 4180Nm - M12x56 1.3/4 inch - 6 Spline

4 580.8245612120 Shearbolt Clutch 4180Nm - M12x56 1.3/4 inch - 20 Spline

5 550.824005138 Overrun Clutch RH AB8RA 1.3/8 inch - 6 Spline

6 541.8240004134 Free-Motion Yoke - 1.3/4 inch - 6 Spline

7 541.8240004120 Free-Motion Yoke - 1.3/4 inch - 20 Spline

8 AUTO 2750 Automatic Clutch Pack 2750Nm Use With Free-Motion Clutch

9 AUTO 2400 Automatic Clutch Pack 2400Nm Use With Free-Motion Clutch

10 AUTO 2000 Automatic Clutch Pack 2000Nm Use With Free-Motion Clutch

11 AUTO 1700 Automatic Clutch Pack 1700Nm Use With Free-Motion Clutch

12 AUTO 1350 Automatic Clutch Pack 1350Nm Use With Free-Motion Clutch

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

580.8245612121580.8245612138 580.8245612134 580.8245612120

550.824005138 541.8240004134 541.8240004120 AUTO 2750

AUTO 2400 AUTO 2000 AUTO 1700 AUTO 1350

1211109

8765

4321

https://www.fastparts.ie/PTO///580.8245612138
https://www.fastparts.ie/PTO///580.8245612121
https://www.fastparts.ie/PTO///580.8245612134
https://www.fastparts.ie/PTO///580.8245612120
https://www.fastparts.ie/PTO///550.824005138
https://www.fastparts.ie/PTO///541.8240004134
https://www.fastparts.ie/PTO///541.8240004120
https://www.fastparts.ie/PTO///AUTO 2750
https://www.fastparts.ie/PTO///AUTO 2400
https://www.fastparts.ie/PTO///AUTO 2000
https://www.fastparts.ie/PTO///AUTO 1700
https://www.fastparts.ie/PTO///AUTO 1350


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 72

Components - Wide Angle EUCV

12 AB8 - Cross 35x106 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16056 Cross 36x106/32x88.8 36.06.00 Standard Lubrication 8 hours

2 FP16533 Quick Release Yoke End - 1.3/8 inch - 6 Spline

3 FP16530 Quick Release Yoke End - 1.3/8 inch - 21 Spline

4 428.036134 Quick Release Yoke End - 1.3/4 inch - 6 Spline

5 428.036000 Centre Piece Wide Angle - -

6 FP16665 Triangle Tube:54 X 4 6.03 -

7 FP16669 Triangle Tube:63 X 4 8.03 -

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16533FP16056 FP16530 428.036134

428.036000 FP16665 FP16669

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16056
https://www.fastparts.ie/PTO///FP16533
https://www.fastparts.ie/PTO///FP16530
https://www.fastparts.ie/PTO///428.036134
https://www.fastparts.ie/PTO///428.036000
https://www.fastparts.ie/PTO///FP16665
https://www.fastparts.ie/PTO///FP16669


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 73

PTO Shafts 

12 AB8 - Cross 35x106 (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16954B PTO Shaft - Standard 1010mm 1.3/8-6 Spline | 1.3/8-6 Spline

2 FP16954T PTO Shaft - Standard 1010mm 1.3/8-6 Spline | 1.3/8-6 Spline

3 1630-6854-161 PTO Shaft - Overun Clutch 1610mm 1.3/8-6 Spline | 1.3/4-6 Spline Clamp 

4 FP16956T PTO Shaft - Shearbolt Clutch 1360mm - 3000Nm 1.3/8-6 Spline | 1.3/8-6 Spline

5 FP1681511SB1 PTO Shaft - Shearbolt Clutch 1510mm - 3500Nm 1.3/8-6 Spline | 1.3/8-6 Spline

6 FP16955T PTO Shaft - Shearbolt Clutch 1500mm - 3000Nm 1.3/8-6 Spline | 1.3/4-6 Spline

7 FP1681011SB4 PTO Shaft - Shearbolt Clutch 1010mm - 3500Nm 1.3/8-6 Spline | 1.3/4-20 Spline

8 FP1681511SB4 PTO Shaft - Shearbolt Clutch 1510mm - 3500Nm 1.3/8-6 Spline | 1.3/4-20 Spline

9 1680-6841-15124 PTO Shaft - Shearbolt Clutch 1510mm - 4180Nm 1.3/8-6 Spline | 1.3/4-20 Spline

10 FP16960T PTO Shaft - Shearbolt Clutch 1200mm - 3000Nm 1.3/8-6 Spline | 1.3/4-20 Spline CBx2

11 FP16959T PTO Shaft - Shearbolt & Overrun 1500mm - 2500Nm 1.3/8-6 Spline SB | 1.3/8-6 Spline Overrun

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16954TFP16954B 1630-6854-161 FP16956T

FP1681511SB1 FP16955T FP1681011SB4 FP1681511SB4

1680-6841-15124 FP16960T FP16959T

NEW

NEW
NEW

NEW
NEW

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16954B
https://www.fastparts.ie/PTO///FP16954T
https://www.fastparts.ie/PTO///1630-6854-161
https://www.fastparts.ie/PTO///FP16956T
https://www.fastparts.ie/PTO///FP1681511SB1
https://www.fastparts.ie/PTO///FP16955T
https://www.fastparts.ie/PTO///FP1681011SB4
https://www.fastparts.ie/PTO///FP1681511SB4
https://www.fastparts.ie/PTO///1680-6841-15124
https://www.fastparts.ie/PTO///FP16960T
https://www.fastparts.ie/PTO///FP16959T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 74

Safety Guards

12 AB8 - Cross 35x106 (Continued)

No. Description OEM Ref / Size Additional Information

1 904-4500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

2 904-4500-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

3 901-4500-151 Safety Guard  - No Bearing Kit 1510mm EasyLock Quick Fit System

4 311.45891 Bearing Kit For Safety Guard 1 x 68mm, 1 x 80mm EasyLock Quick Fit System

5 FP16978G Safety Guard C/W Bearing Rings 1360mm Fastparts

6 FP16978GB Bearing Kit For Safety Guard 1 x 62mm, 1 x 72mm Fastparts

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

904-4500-086904-4500-136 901-4500-151 311.45891

FP16978G

NEW

FP16978GB

1211109

8765

4321

https://www.fastparts.ie/PTO///904-4500-136
https://www.fastparts.ie/PTO///904-4500-086
https://www.fastparts.ie/PTO///901-4500-151
https://www.fastparts.ie/PTO///FP16978G
https://www.fastparts.ie/PTO///311.45891


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 75

Components 

13 AB9 - Cross 41x108

No. Description OEM Ref / Size Additional Information

1 FP16060 Cross  41x108 9.41 Standard Lubrication 8 hours

2 FP16396 Quick Release Yoke End 9.05.07 1.3/8 inch - 6 Spline

3 FP16398 Yoke - Inner Tube 9.07 Triangle Tube:54 X 5

4 FP16397 Yoke - Outer Tube 9.06 Triangle Tube:63 X 4

5 795.12100 Roll Pin 12x100 - -

6 FP16399 Quick Release Yoke End 9.05.08 1.3/8 inch - 21 Spline

7 FP16700B Triangle Tube:54 X 5 8.04 Inner

8 FP16669B Triangle Tube:63 X 4 8.03 Outer

9 410.900634 Auto-Lok Yoke - 1.3/4 inch - 6 Spline

10 410.9004138 Bolt Clamp Yoke End - 1.3/8 inch - 6 Spline

11 791.0121 Push Pin Set - 1.3/8 inch Yokes 47x13.85 (27x8) Weasler - Series AB1 to 9

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16396FP16060 FP16398 FP16397

795.12100 FP16399 FP16700B FP16669B

410.900634 410.9004138 791.0121

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16060
https://www.fastparts.ie/PTO///FP16396
https://www.fastparts.ie/PTO///FP16398
https://www.fastparts.ie/PTO///FP16397
https://www.fastparts.ie/PTO///795.12100
https://www.fastparts.ie/PTO///FP16399
https://www.fastparts.ie/PTO///FP16700B
https://www.fastparts.ie/PTO///FP16669B
https://www.fastparts.ie/PTO///410.900634
https://www.fastparts.ie/PTO///410.9004138
https://www.fastparts.ie/PTO///791.0121


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 76

Safety Guards

13 AB9 - Cross 41x108 (Continued)

No. Description OEM Ref / Size Additional Information

1 904-4500-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

2 904-4500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

3 901-4500-151 Safety Guard - Bearings not included 1510mm EasyLock Quick Fit System

4 311.45891 Bearing Kit For Safety Guard 1 x 68mm, 1 x 80mm Weasler

5 FP16998 Chain For Safety Guard - Universal

6 FP16999 Easy Lock Grease Nipple - -

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

904-4500-136904-4500-086 901-4500-151 311.45891

FP16998 FP16999

1211109

8765

4321

https://www.fastparts.ie/PTO///904-4500-086
https://www.fastparts.ie/PTO///904-4500-136
https://www.fastparts.ie/PTO///901-4500-151
https://www.fastparts.ie/PTO///311.45891
https://www.fastparts.ie/PTO///FP16998
https://www.fastparts.ie/PTO///FP16999


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 77

Components & Safety Guards

14 AB10 - Cross 41x118

No. Description OEM Ref / Size Additional Information

1 610.1000 Cross  41x118 10.41 Available on request

2 H204051570 Quick Release Yoke End - 1.3/4 inch - 20 Spline

3 710.546 Triangle Tube:54 X 6 9.04 Inner

4 710.666 Triangle Tube:66 X 6 9.03 Outer

5 904-4500-086 Safety Guard C/W Bearing Rings 860mm EasyLock Quick Fit System

6 904-4500-136 Safety Guard C/W Bearing Rings 1360mm EasyLock Quick Fit System

7 901-4500-151 Safety Guard  1510mm No Bearing Kit Included

8 311.45891 Bearing Kit For Safety Guard 1 x 68mm, 1 x 80mm Weasler

9 H204056864 Flange Yoke - Howard/Kongskilde

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

H204051570610.1000 710.546 710.666

904-4500-086 904-4500-136 901-4500-151 311.45891

H204056864

1211109

8765

4321

https://www.fastparts.ie/PTO///610.1000
https://www.fastparts.ie/PTO///H204051570
https://www.fastparts.ie/PTO///710.546
https://www.fastparts.ie/PTO///710.666
https://www.fastparts.ie/PTO///904-4500-086
https://www.fastparts.ie/PTO///904-4500-136
https://www.fastparts.ie/PTO///901-4500-151
https://www.fastparts.ie/PTO///311.45891
https://www.fastparts.ie/PTO///H204056864


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 78

Original Items

15 Bondioli & Pavesi

No. Description OEM Ref / Size Additional Information

1 H204056906 Cross  27x74.6 41204 -

2 415.2040H6863 Inner Tube Yoke 2040H6863 H7

3 415.2040H6862 Outer Tube Yoke 2040H6862 H7

4 415.204S76856 Inner Yoke 204S76856 S7

5 415.204S76855 Outer Yoke 204S76855 S7

6 415.4210E0001R03 Pawl with Spring 4210E0001R03 RA2

7 415.CS6GC050007 Inner Joint  CS6GC050007 S6

8 H204051570 Quick Release Yoke End AB10 1.3/4 inch - 20 Spline

9 H204056864 Flange Yoke AB10 Suits Old Howard machines

10 610.6041 Cross  34x106.5 60.41 Weasler

11 610.3041 Cross  29x79.8 30.41 Weasler

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

415.2040H6863H204056906 415.2040H6862 415.204S76856

415.204S76855 415.4210E0001R03 415.CS6GC050007 H204051570

H204056864 610.6041 610.3041

1211109

8765

4321

https://www.fastparts.ie/PTO///H204056906
https://www.fastparts.ie/PTO///415.2040H6863
https://www.fastparts.ie/PTO///415.2040H6862
https://www.fastparts.ie/PTO///415.204S76856
https://www.fastparts.ie/PTO///415.204S76855
https://www.fastparts.ie/PTO///415.4210E0001R03
https://www.fastparts.ie/PTO///415.CS6GC050007
https://www.fastparts.ie/PTO///H204051570
https://www.fastparts.ie/PTO///H204056864
https://www.fastparts.ie/PTO///610.6041
https://www.fastparts.ie/PTO///610.3041


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 79

Original Items

16 Walterscheid

No. Description OEM Ref / Size Additional Information

1 395.161375 Bearing Ring 1B 16.33.113 40mm, SC25

2 395.161376 Bearing Ring 2A 16.33.115 48mm, SC25

3 395.023437 Double Yoke  35.28.00 2400, 100mm Cross Centre, 32mm Cap

4 395.335436 Double Yoke 20.23.103 2200, 78mm Cross Centre, 24mm Cap

5 563402 Clutch Disc 56.43.02 K96/4

6 395.110063 Clutch Disc 66.10.01 Blue Dot

7 395.364636 Cam 59.23.00 Suits Amazone KG K64/2

8 395.043775 Guard Cone 84.00.10 SC12

9 563012 Hub 1.3/8 S Spline 56.30.12 K96-EK96

10 395.365714 Wide Angle Guard Cone 85.00.00 SD05 80 Degree

11 395.341579 QR Yoke End - Wide Angle AW35 W Series 2480

12 395.045560 Clutch Disc  Green 66.16.00 -

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

395.161376395.161375 395.023437 395.335436

563402 395.110063 395.364636 395.043775

563012 395.365714 395.341579 395.045560

1211109

8765

4321

https://www.fastparts.ie/PTO///395.161375
https://www.fastparts.ie/PTO///395.161376
https://www.fastparts.ie/PTO///395.023437
https://www.fastparts.ie/PTO///395.335436
https://www.fastparts.ie/PTO///563402
https://www.fastparts.ie/PTO///395.110063
https://www.fastparts.ie/PTO///395.364636
https://www.fastparts.ie/PTO///395.043775
https://www.fastparts.ie/PTO///563012
https://www.fastparts.ie/PTO///395.365714
https://www.fastparts.ie/PTO///395.341579
https://www.fastparts.ie/PTO///395.045560


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 80

For End Yokes

Repair Items - All Brands

No. Description OEM Ref / Size Additional Information

1 26-15120 Collar For Autolok & Slide Lock - Weasler

2 13004138 Collar For Safety Slide Lock - Weasler

3 FP161001 Collar Kit - Plastic - Benzi Energy

4 FP161000 Collar Kit - Steel For 1.3/8 6S & 21S Benzi Evolution

5 572.0001035 QR Set For Overrun & Radial Pin All Series Weasler

6 FP16202 Push Pin Set - 1.3/8 inch Yokes 54.5x13 (7.7x14.7) Weasler - All AW Series

7 FP16201 Push Pin Set - 1.3/4 inch Yokes 54.5x16 (42.5x9) Weasler - All AW Series

8 FP16200 Push Pin Set - 1.3/8 inch Yokes 45x13 / 35x8 Weasler - All AW Series

9 791.0121 Push Pin Set - 1.3/8 inch Yokes 47x13.85 (27x8) Weasler - Series AB1 to 9

10 FP16000T Push Pin Kit - End Yokes All Series 44.5mm Fastparts

11 FP16002T Push Pin Kit For Shearbolt 47mm Fastparts

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

1300413826-15120 FP161001 FP161000

572.0001035 FP16202 FP16201 FP16200

791.0121 FP16000T FP16002T

1211109

8765

4321

https://www.fastparts.ie/PTO///26-15120
https://www.fastparts.ie/PTO///13004138
https://www.fastparts.ie/PTO///FP161001
https://www.fastparts.ie/PTO///FP161000
https://www.fastparts.ie/PTO///572.0001035
https://www.fastparts.ie/PTO///FP16202
https://www.fastparts.ie/PTO///FP16201
https://www.fastparts.ie/PTO///FP16200
https://www.fastparts.ie/PTO///791.0121
https://www.fastparts.ie/PTO///FP16000T
https://www.fastparts.ie/PTO///FP16002T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 81

For Clutches

Repair Items - All Brands (Continued)

No. Description OEM Ref / Size Additional Information

1 19-20027 Friction Clutch Service Kit TorQmaster Weasler

2 561.0000117 Spring For Friction Clutch 34mm x 26 (h x w) Weasler

3 FP16223 Friction Clutch Disc 90x56x4.8 56.73.13 Weasler

4 FP16226 Friction Clutch Disc 140x85x3.5 - Weasler

5 FP16227 Friction Clutch Disc 141x77x3.5 - Weasler

6 FP16225 Friction Clutch Disc 146x89x3.0 - Weasler

7 FP16220 Friction Clutch Disc 153x91x3.0 56.73.08 Weasler

8 FP16224 Friction Clutch Disc 157x100x3.0 - Weasler

9 FP16222 Friction Clutch Disc 160x100x3.0 56.73.12 Weasler

10 FP16221 Friction Clutch Disc 160x97x3.5 - Weasler

11 FP16221B Friction Clutch Disc 160x97x3.2mm 220 Benzi

12 FP16229B Friction Clutch Disc 160x97x3.2mm 174, 175, 244 Benzi - High Performance Disc

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

561.000011719-20027 FP16223 FP16226

FP16227 FP16225 FP16220 FP16224

FP16222 FP16221 FP16221B FP16229B

NEW

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///19-20027
https://www.fastparts.ie/PTO///561.0000117
https://www.fastparts.ie/PTO///FP16223
https://www.fastparts.ie/PTO///FP16226
https://www.fastparts.ie/PTO///FP16227
https://www.fastparts.ie/PTO///FP16225
https://www.fastparts.ie/PTO///FP16220
https://www.fastparts.ie/PTO///FP16224
https://www.fastparts.ie/PTO///FP16222
https://www.fastparts.ie/PTO///FP16221
https://www.fastparts.ie/PTO///FP16221B
https://www.fastparts.ie/PTO///FP16229B


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 82

For Clutches

Repair Items - All Brands (Continued)

No. Description OEM Ref / Size Additional Information

1 81280-2228 Inner Hub For Shearbolt 1.3/4-6S AW22/AB6 Weasler

2 81271-2010 Inner Hub For Shearbolt 1.3/8-6 S AW22/AB6 Weasler

3 FPBALL592 Ball Bearing For Shearbolt AB4 Fastparts

4 FPBALL793 Ball Bearing For Shearbolt AB6 Fastparts

5 13000502 Repair Kit for Overrun Clutch All Series Weasler

6 FP16200T Cam & Spring Kit- Radial Clutch All Series Fastparts - Single Kit

7 572.0003136 Cam & Spring Set - Radial Clutch All Series Weasler - Set for 4 Row

8 FP161002 Conical Bolt M12 1.3/8 - 6S & 21S Benzi

9 FP161003 Conical Bolt M14 1.3/4 -6S & 20S Benzi

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

81271-201081280-2228 FPBALL592 FPBALL793

13000502 FP16200T 572.0003136 FP161002

FP161003

NEW
NEW

NEW
1211109

8765

4321

https://www.fastparts.ie/PTO///81280-2228
https://www.fastparts.ie/PTO///81271-2010
https://www.fastparts.ie/PTO///FPBALL592
https://www.fastparts.ie/PTO///FPBALL793
https://www.fastparts.ie/PTO///13000502
https://www.fastparts.ie/PTO///FP16200T
https://www.fastparts.ie/PTO///572.0003136
https://www.fastparts.ie/PTO///FP161002
https://www.fastparts.ie/PTO///FP161003


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 83

Safety Cones

16 Repair Items - All Brands (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16001T Machine Protection Cone 280x245x230 Fastparts

2 390.1515190 Machine Protection Cone 208x150x150 Weasler

3 390.195294 Machine Protection Cone 294x195x166 Weasler

4 391.350235 Machine Protection Cones 350x235x250 Weasler

5 361.3100 Wide Angle Guard Cone - EUCV AW35,AB5,AB6 Weasler

6 361.2100 Wide Angle Guard Cone - EUCV AW21,AB4 Weasler

7 FP16998 Chain For Safety Guard All Series Weasler

8 FP16999 Easy Lock Grease Nipple All Series Weasler

9 FP166041 Wide Angle Guard Cone AW35 Benzi

10 FP166046 Wide Angle Guard Cone AW36 Benzi

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

390.1515190FP16001T 390.195294 391.350235

361.3100 361.2100 FP16998 FP16999

FP166041 FP166046

NEW

NEW
NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16001T
https://www.fastparts.ie/PTO///390.1515190
https://www.fastparts.ie/PTO///390.195294
https://www.fastparts.ie/PTO///391.350235
https://www.fastparts.ie/PTO///361.3100
https://www.fastparts.ie/PTO///361.2100
https://www.fastparts.ie/PTO///FP16998
https://www.fastparts.ie/PTO///FP16999
https://www.fastparts.ie/PTO///FP166041
https://www.fastparts.ie/PTO///FP166046


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 84

Roll Pins for Tubing

Repair Items - All Brands (Continued)

No. Description OEM Ref / Size Additional Information

1 795.0855 Roll Pin 8x55 - Weasler

2 795.0865 Roll Pin 8x65 - Weasler

3 795.1065 Roll Pin 10x65 - Weasler

4 795.1075 Roll Pin 10x75 - Weasler

5 795.1080 Roll Pin 10x80 - Weasler

6 795.1085 Roll Pin 10x85 - Weasler

7 795.1090 Roll Pin 10x90 - Weasler

8 795.1290 Roll Pin 12x90 - Weasler

9 795.12100 Roll Pin 12x100 - Weasler

10 795.13100 Roll Pin 13x100 - Weasler

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

795.0865795.0855 795.1065 795.1075

795.1080 795.1085 795.1090 795.1290

795.12100 795.13100

1211109

8765

4321

https://www.fastparts.ie/PTO///795.0855
https://www.fastparts.ie/PTO///795.0865
https://www.fastparts.ie/PTO///795.1065
https://www.fastparts.ie/PTO///795.1075
https://www.fastparts.ie/PTO///795.1080
https://www.fastparts.ie/PTO///795.1085
https://www.fastparts.ie/PTO///795.1090
https://www.fastparts.ie/PTO///795.1290
https://www.fastparts.ie/PTO///795.12100
https://www.fastparts.ie/PTO///795.13100


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 85

Abbey,Belmac,Bredal,Claas

Brand Specific Items

No. Description OEM Ref / Size Additional Information

1 995-00487 Yoke Assembly Complete Abbey 40mm, 12mm Key/35mm, 10mm Key

2 994-00630 Clamp Yoke Round Bore Abbey 40mm, 12mm Keyway

3 FP16227 Friction Clutch Disc 141x77x3.5 Abbey Weasler

4 FP16993T PTO Shaft WIde Angle - Shearbolt Abbey 1.3/8 inch - 6 Spline,1010mm - 1700Nm

5 FP16920T PTO Shaft - 1210mm Amazone ZAF/ZAX 1.3/8 inch - 6S | Round Bore 30mm

6 FP16120T Flange Yoke  - 30mm RB Shearbolt Amazone ZAF/ZAX Twin Disc Spreaders *FP16920T Only*

7 200.10071138901 PTO Shaft - 710mm Amazone ZAF/ZAX 1.3/8 inch - 6S | Round Bore 30mm

8 420.010901 Flange Yoke - 30mm RB Shearbolt Amazone ZAF/ZAX Twin Disc Spreaders

9 FP16993T PTO Shaft WIde Angle - Shearbolt Belmac,Bredal 1.3/8 inch - 6 Spline,1010mm - 1700Nm

10 FP16965B PTO Shaft - 1710mm Long Cone Claas Rake Claas Liner * add your own clutch *

11 FP16974T PTO Shaft - 1360mm Radial Pin Claas Rake 1.3/8 inch - 6 Spline , 800Nm

12 FP16995B PTO Shaft WA 1360mm - Lemon Claas Baler 1.3/8 inch - 6 Spline, Benzi Evolution

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

994-00630995-00487 FP16227 FP16993T

FP16920T FP16120T 200.10071138901 420.010901

FP16993T FP16965B FP16974T FP16995B

NEW

NEW
1211109

8765

4321

https://www.fastparts.ie/PTO///995-00487
https://www.fastparts.ie/PTO///994-00630
https://www.fastparts.ie/PTO///FP16227
https://www.fastparts.ie/PTO///FP16993T
https://www.fastparts.ie/PTO///FP16920T
https://www.fastparts.ie/PTO///FP16120T
https://www.fastparts.ie/PTO///200.10071138901
https://www.fastparts.ie/PTO///420.010901
https://www.fastparts.ie/PTO///FP16993T
https://www.fastparts.ie/PTO///FP16965B
https://www.fastparts.ie/PTO///FP16974T
https://www.fastparts.ie/PTO///FP16995B


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 86

Conor,Cross,Deutz Fahr,Doda,Fransgard,Hardi,Hi-Spec,Howard,JF Stoll

17 Brand Specific Items (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16993T PTO Shaft Wide Angle - 1010mm 
Shearbolt Clutch

Conor, Cross 1.3/8 inch - 6 Spline, 1700Nm

2 FP16907T PTO Shaft - 860mm Overrun Clutch Deutz Fahr 1.3/8 inch - 6 Spline, Drum Mower

3 FP16960T PTO Shaft - 1200mm Shearbolt Clutch Doda Pump 1.3/8 inch - 6S | 1.3/4 inch - 20S CBx2

4 FP16904T PTO Shaft - 1360mm Radial Clutch Fransgard Haybob 1.3/8 inch - 6 Spline

5 FP16904B PTO Shaft - 1360mm Radial Clutch Fransgard Haybob 1.3/8 inch - 6 Spline 

6 FP16906 Safety Guard C/W Bearing Rings Fransgard Haybob Extended Cone to cover Radial Clutch

7 FP90501 Round Bore Yoke End Hardi Sprayer 25mm Tapered Shaft

8 FP90506 Round Bore Yoke End Hardi Sprayer 30mm Tapered Shaft

9 FP16993T PTO Shaft Wide Angle - 1010mm 
Shearbolt Clutch

Hi-Spec 1.3/8 inch - 6 Spline, 1700Nm

10 FP16979T PTO Shaft - 1010mm Star Howard Rotavator * Use Original Clutch

11 FP16220 Friction Clutch Disc 153x91x3.0 JF/Kongskilde 900 Forage Harvester

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16907TFP16993T FP16960T FP16904T

FP16904B FP16906 FP90501 FP90506

FP16993T FP16979T FP16220

NEW
NEW

NEW
1211109

8765

4321

https://www.fastparts.ie/PTO///FP16993T
https://www.fastparts.ie/PTO///FP16907T
https://www.fastparts.ie/PTO///FP16960T
https://www.fastparts.ie/PTO///FP16904T
https://www.fastparts.ie/PTO///FP16904B
https://www.fastparts.ie/PTO///FP16906
https://www.fastparts.ie/PTO///FP90501
https://www.fastparts.ie/PTO///FP90506
https://www.fastparts.ie/PTO///FP16993T
https://www.fastparts.ie/PTO///FP16979T
https://www.fastparts.ie/PTO///FP16220


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 87

John Deere,Kuhn

17 Brand Specific Items (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16963B PTO Shaft - 1210mm Standard John Deere Mower 1.3/8 inch - 6 Spline

2 936-01304 PTO Shaft 1010mm Star - Hex John Deere Mower 1.3/8 inch - 6S | Hex 38mm

3 FP16560 Quick Release Yoke End John Deere Mower 1.3/8 inch - 21 Spline

4 79020-0003 Bolt Clamp Yoke End - Hex John Deere Mower 1.1/2 inch Hex (38mm)

5 3800.35136 Safety Guard - No Bearings John Deere Mower EasyLock Quick Fit System

6 321.3525 Bearing Kit For Safety Guard John Deere Mower -

7 563-7921-08 Friction Clutch - 4 Disc 2000Nm John Deere Mower 1.3/8 inch - 21 Spline Bolt Clamp (2)

8 FP16221 Friction Clutch Disc John Deere Mower 160x97x3.5mm

9 3100.353136 Safety Guard Wide Angle  John Deere Mower WWCV  

10 201-3545 Cross  31.8x81.3/31.8x109.2 John Deere Mower WWCV - Bushing Lube 

11 FP16967B PTO Shaft - 1010mm Standard Star John Deere/Kuhn Mower 1.3/8 inch - 6 Spline, Benzi Evolution

12 FP16967T PTO Shaft - 1010mm Standard Star John Deere/Kuhn Mower 1.3/8 inch - 6 Spline, Fastparts

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

936-01304FP16963B FP16560 79020-0003

3800.35136 321.3525 563-7921-08 FP16221

3100.353136 201-3545 FP16967B FP16967T

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16963B
https://www.fastparts.ie/PTO///936-01304
https://www.fastparts.ie/PTO///FP16560
https://www.fastparts.ie/PTO///79020-0003
https://www.fastparts.ie/PTO///3800.35136
https://www.fastparts.ie/PTO///321.3525
https://www.fastparts.ie/PTO///563-7921-08
https://www.fastparts.ie/PTO///FP16221
https://www.fastparts.ie/PTO///3100.353136
https://www.fastparts.ie/PTO///201-3545
https://www.fastparts.ie/PTO///FP16967B
https://www.fastparts.ie/PTO///FP16967T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 88

John Deere,Kuhn

17 Brand Specific Items (Continued)

No. Description OEM Ref / Size Additional Information

1 FP163610121 PTO Shaft 1010mm Star John Deere/Kuhn Mower 1.3/8 inch - 21S | 1.3/8 inch - 6

2 FP16970B PTO Shaft 1010mm - Star John Deere/Kuhn Mower 1.3/8 inch - 6S | 1.3/8 inch - 21S CB

3 FP16520 Bolt Clamp Yoke End John Deere/Kuhn Mower 1.3/8 inch - 21 Spline

4 FP1636086IHS PTO Half Shaft - 860mm Inner Star John Deere/Kuhn Mower 1.3/8 inch - 6 Spline, No Cover

5 FP16510 Yoke - Inner Tube - AW36 Star Inner John Deere/Kuhn Mower Star Tube:51

6 FP16515 Yoke - Outer Tube - AW36 Star Outer John Deere/Kuhn Mower Star Tube:61 X 4

7 FP16565 Quick Release Yoke End John Deere/Kuhn Mower 1.3/8 inch - 6 Spline

8 647.036 Cross 36x89 John Deere/Kuhn Mower Extended Lubrication Intervals

9 904-3600-136 Safety Guard 1360mm C/W Bearings John Deere/Kuhn Mower EasyLock Quick Fit System

10 FP16055 Cross 36x89 John Deere/Kuhn Mower Standard Lubrication 8 hours

11 FP16820B Star Tube:51 John Deere/Kuhn Mower Inner

12 FP16825B Star Tube:61 X 4 John Deere/Kuhn Mower Outer

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16970BFP163610121 FP16520 FP1636086IHS

FP16510 FP16515 FP16565 647.036

904-3600-136 FP16055 FP16820B FP16825B

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP163610121
https://www.fastparts.ie/PTO///FP16970B
https://www.fastparts.ie/PTO///FP16520
https://www.fastparts.ie/PTO///FP1636086IHS
https://www.fastparts.ie/PTO///FP16510
https://www.fastparts.ie/PTO///FP16515
https://www.fastparts.ie/PTO///FP16565
https://www.fastparts.ie/PTO///647.036
https://www.fastparts.ie/PTO///904-3600-136
https://www.fastparts.ie/PTO///FP16055
https://www.fastparts.ie/PTO///FP16820B
https://www.fastparts.ie/PTO///FP16825B


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 89

Kuhn,Keenan,Kverneland (Taarup),Lely

17 Brand Specific Items (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16241011F3 PTO Shaft 1010mm - Friction Clutch Kuhn Mower 1.3/8 inch - 6S | 1.3/4 inch - 6S, 2000Nm

2 FP1635101O PTO Shaft 1010mm - Overrun Clutch Kuhn Mower 1.3/8 inch - 6 Spline

3 FP16227 Friction Clutch Disc 141x77x3.5 Kuhn Mower Weasler

4 420.026634 Auto-Lok Yoke Kuhn Mower 1.3/4 inch - 6 Spline

5 1630-6854-161 PTO Shaft 1610mm - Overun Clutch Keenan 1.3/8-6 Spline | 1.3/4-6 Spline Clamp 

6 FP16140 Overrun Clutch RH Kverneland (Taarup) 1.3/8 inch - 6 Spline

7 FP08177 Joint Assembly Lely Stabilo 30mm Round Bore & 8mm Key x 2

8 FP08178 Joint Assembly Lely Rotonde 1.3/8-21 Spline GN| 1.3/8-21 Spline 10mm

9 FP16012 Cross 23.8x61.2 Lely Stabilo, Rotonde Cap Lubrication

10 FP16907T PTO Shaft 860mm - Overrun Clutch Lely Drum Mower 1.3/8 inch - 6 Spline, Drum Mower

11 563-7921-08 Friction Clutch - 4 Disc Lely Optimo 1.3/8 inch - 21 Spline Bolt Clamp (2)

12 FP16220 Friction Clutch Disc 153x91x3.0 Lely Optimo Weasler

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP1635101OFP16241011F3 FP16227 420.026634

1630-6854-161 FP16140 FP08177 FP08178

FP16012 FP16907T 563-7921-08 FP16220

NEW

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16241011F3
https://www.fastparts.ie/PTO///FP1635101O
https://www.fastparts.ie/PTO///FP16227
https://www.fastparts.ie/PTO///420.026634
https://www.fastparts.ie/PTO///1630-6854-161
https://www.fastparts.ie/PTO///FP16140
https://www.fastparts.ie/PTO///FP08177
https://www.fastparts.ie/PTO///FP08178
https://www.fastparts.ie/PTO///FP16012
https://www.fastparts.ie/PTO///FP16907T
https://www.fastparts.ie/PTO///563-7921-08
https://www.fastparts.ie/PTO///FP16220


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 90

Major,McHale,PZ,Rauch

17 Brand Specific Items (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16982T PTO Shaft 1010mm - Shearbolt 
2100Nm & Overrun 

Major Topper 1.3/8 inch-6S SB | 1.3/8 inch-6S Overrun

2 936-80763 PTO Shaft WA 1510mm McHale Baler WA Series 36/Implement Series 35

3 914-3300-151 Safety Guard c/w Bearings McHale Baler Fits Baler Upgrade Shaft

4 FP16907T PTO Shaft 860mm - Overrun Clutch PZ Mower 1.3/8 inch - 6 Spline, Drum Mower

5 FP16904T PTO Shaft - 1360mm Radial Clutch PZ Haybob 1.3/8 inch - 6 Spline

6 FP16904B PTO Shaft - 1360mm Radial Clutch PZ Haybob 1.3/8 inch - 6 Spline 

7 FP16906 Safety Guard C/W Bearing Rings PZ Haybob Extended Cone to cover Radial Clutch

8 FP16135T Round Bore Yoke - 30mm Rauch Fertilizer Spreader

9 420.010901 Flange Yoke - Shearbolt Rauch Fertilizer Spreader

10 FP16930T PTO Shaft 1010mm  Rauch 1.3/8 inch - 6S | Round Bore 30mm

11 FP16860T Radial Pin Clutch 800Nm Rauch 1.3/8 inch - 6 Spline

12 FP16136T Overrun Clutch RH Rauch 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

936-80763FP16982T 914-3300-151 FP16907T

FP16904T FP16904B FP16906 FP16135T

420.010901 FP16930T FP16860T FP16136T

1211109

8765

4321

https://www.fastparts.ie/PTO///FP16982T
https://www.fastparts.ie/PTO///936-80763
https://www.fastparts.ie/PTO///914-3300-151
https://www.fastparts.ie/PTO///FP16907T
https://www.fastparts.ie/PTO///FP16904T
https://www.fastparts.ie/PTO///FP16904B
https://www.fastparts.ie/PTO///FP16906
https://www.fastparts.ie/PTO///FP16135T
https://www.fastparts.ie/PTO///420.010901
https://www.fastparts.ie/PTO///FP16930T
https://www.fastparts.ie/PTO///FP16860T
https://www.fastparts.ie/PTO///FP16136T


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 91

Redrock,Sulky,Taarup,Vicon

17 Brand Specific Items (Continued)

No. Description OEM Ref / Size Additional Information

1 FP16993T PTO Shaft WA 1010mm - S/B Clutch Redrock 1.3/8 inch - 6 Spline, 1700Nm

2 1680-6604-15122 PTO Shaft 1510mm - S/B Clutch Redrock 1.3/8 inch - 6S | 1.3/4 inch - 6S, 2920Nm

3 300-6845 Yoke - Inner Tube - Redrock Redrock Triangle Tube:45 X 4

4 FP08192 Yoke End - Hex 27mm Rozmital -

5 FP16909T PTO Shaft  800mm Sulky 1.3/8 inch - 6S | Round Bore 25mm

6 FP16909Y Round Bore Yoke End Sulky 25mm / Key 8mm

7 390.195294 Machine Protection Cone Taarup 10X Harvester 294x195x166

8 FP16900T PTO Shaft - 560mm Vicon Spreader 1.3/8 inch - 6S | Flange Yoke

9 FP16903T PTO Shaft - 610mm Vicon Spreader 1.3/8 inch - 6S | Round Bore 30mm

10 FP16400T 3 Bolt Flange Yoke  Vicon Vicon Spreader Rubber Drive

11 FP16405T Round Bore Yoke End  Vicon Vicon Spreader Round Bore 30mm

12 FP16140 Overrun Clutch RH Vicon 1.3/8 inch - 6 Spline

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

1680-6604-15122FP16993T 300-6845 FP08192

FP16909T FP16909Y 390.195294 FP16900T

FP16903T FP16400T FP16405T FP16140

1211109

8765

4321

http://fastparts.ie/FP16993T
http://fastparts.ie/1680-6604-15122
http://fastparts.ie/300-6845
http://FP08192
https://www.fastparts.ie/FP16993T
https://www.fastparts.ie/PTO///1680-6604-15122
https://www.fastparts.ie/PTO///300-6845
https://www.fastparts.ie/PTO///FP08192
https://www.fastparts.ie/PTO///FP16909T
https://www.fastparts.ie/PTO///FP16909Y
https://www.fastparts.ie/PTO///390.195294
https://www.fastparts.ie/PTO///FP16900T
https://www.fastparts.ie/PTO///FP16903T
https://www.fastparts.ie/PTO///FP16400T
https://www.fastparts.ie/PTO///FP16405T
https://www.fastparts.ie/PTO///FP16140


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 92

Vicon,Welger

17 Brand Specific Items (Continued)

No. Description OEM Ref / Size Additional Information

1 FP1635101O PTO Shaft 1010mm - Overrun Clutch Vicon 1.3/8 inch - 6 Spline

2 FP16962T PTO Shaft 1200mm - Overrun Clutch Vicon 1.3/8 inch - 6 Spline

3 936-80763 PTO Shaft WA 1510mm Welger Baler WA Series 36/Implement Series 35

4 FP16989B PTO Shaft WA 1410mm - Lemon 2A Welger Baler 1.3/8 inch - 6 Spline 

5 FP16995B PTO Shaft WA 1360mm - Lemon Welger Baler 1.3/8 inch - 6 Spline, Evolution

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

FP16962TFP1635101O 936-80763 FP16989B

FP16995B

1211109

8765

4321

https://www.fastparts.ie/PTO///FP1635101O
https://www.fastparts.ie/PTO///FP16962T
https://www.fastparts.ie/PTO///936-80763
https://www.fastparts.ie/PTO///FP16989B
https://www.fastparts.ie/PTO///FP16995B


Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 93

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Technical Data: Lemon, Star, Triangular Shafts

17 Complete PTO Shafts

TECHNICAL DATA FOR LEMON SHAFTS

Tractor PTO Output

Torque
Static
(Max)

Interchangeable 
with

Walt Code

540 RPM 1000 RPM

Power Power

Series Cross Size kW   HP kW   HP Nm Nm

AW 10 22.0 × 54.8 11 15    17 23 349 1150 W2100

AW 20 23.8 × 61.2 20 27 16 21 493 1700 W2200

AW 21 27.0 × 74.6 28 38 27 36 836 2500 W2300

AW 22 30.2 × 92.0 47 64 74 101 710 1450 W220

AW 35 32.0 × 76.0 39 53 39 52 1197 3900 W2400

TECHNICAL DATA FOR STAR SHAFTS

TECHNICAL DATA FOR TRIANGULAR SHAFTS

Tractor PTO Output

Torque
Static
(Max)

Interchangeable 
with

BYPY Code

540 RPM 1000 RPM

Power Power

Series Cross Size kW   HP kW   HP Nm Nm

AB 1 22.0 × 54.0 11 15 17 23 342 1100 101

AB 2 23.8 × 61.2 16 21 24 33 493 1700 102

AB 3 27.0 × 70.0 21 29 33 44 668 2000 103

AB 4 27.0 × 74.6 27 36 41 56 836 2500 104

AB 5 30.2 × 79.4 39 52 60 81 1212 3900 105

AB 6 30.2 × 92.0 48 64 73 99 1483 4300 106

AB 7N 34.9 × 94.0 59 79 91 122 1835 5500 107

AB 8 34.9 × 106.5 75 100 115 154 2316 6000 108

AB 9 41.0 × 108.0 89 120 138 185 2781 7850 109

AM 77S 45.0 × 126.0 128 171 197 264 5084 12430 -

Tractor PTO Output

Torque
Static
(Max)

Interchangeable 
with

Walt Code

540 RPM 1000 RPM

Power Power

Series Cross Size kW   HP kW   HP Nm Nm

AW 35 32.0 × 76.0 39 52 59  80 1197 3900 W2400

AW 36 36.0 × 88.8 60 80 92 124 1864 5900 W2500

AW 24 34.9 × 106.5 70 95 110 150 2096 6200 W240

AW 26 42.0 × 104.0 85 113 130 175 2628 7850 W2600



PTO Shaft Specifications
AW10

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 94

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

AMAZONE FERTILISER SPREADER

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16920T AW10 (22x54.6) 1210mm Round Bore Flange 30mm

6 30mm

1.3/8

RAUCH

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16930T AW10 (22x54.6) 1010mm Round Bore 30mm

6 30mm

10mm pin hole1.3/8

SULKY FERTILISER SPREADER

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16909T AW10 (22x54.6) 800mm Round Bore 25mm

6
1.3/8

STANDARD SHAFTS

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16908 AW10 (22x54.6) 610mm 1.3/8-6S

1.3/8-6S FP16908T AW10 (22x54.6) 610mm 1.3/8-6S

1.3/8-6S FP16908TL AW10 (22x54.6) 800mm 1.3/8-6S

1.3/8-6S FP16915B AW10 (22x54.6) 1210mm 1.3/8-6S

6 6
1.3/8 1.3/8

G

E

D

D=25mm
E=8mm Key

G=M8 grub Screw

https://www.fastparts.ie/FP16920T
https://www.fastparts.ie/FP16930T
https://www.fastparts.ie/FP16909T
https://www.fastparts.ie/FP16908
https://www.fastparts.ie/FP16908T
https://www.fastparts.ie/FP16908TL
https://www.fastparts.ie/FP16915B


PTO Shaft Specifications
AW10, AW20

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 95

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16947 AW20 (24x61) 1100mm 1.3/8-6S

6 6
STANDARD SHAFT1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16904B AW20 (24x61) 1360mm 1.3/8-6S Radial Pin 

HAYBOB

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16903T AW10 (22x54.6) 610mm Round Bore 30mm

1.3/8-6S FP16900T AW10 (22x54.6) 560mm 3 Bolt Flange Yoke

VICON FERTILISER SPREADER

6
1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16910T AW10 (22x54.6) 800mm Round Bore 24mm

PRESSURE WASHER

6
1.3/8

G

E

D

D=24mm
E=8mm Key

G=M8 grub Screw

https://www.fastparts.ie/FP16947
https://www.fastparts.ie/FP16904B
https://www.fastparts.ie/FP16903T
https://www.fastparts.ie/FP16900T
https://www.fastparts.ie/FP16910T


PTO Shaft Specifications
AW21

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 96

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16940 AW21 (27x74.6) 1360mm 1.3/8-6S

6 6
STANDARD SHAFT1.3/8 1.3/8

SUITS DRUM MOWERS

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16907T AW21 (27x74.6) 900mm 1.3/8-6S Overrun 

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16904T AW21 (27x74.6) 1360mm 1.3/8-6S Radial Pin 800Nm 

6 6
1.3/8 1.3/8HAYBOB & TEDDERS

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16211361R1 AW21 (27x74.6) 1360mm 1.3/8-6S Radial Pin 900Nm

6 6
1.3/8 1.3/8TEDDERS & RAKES

https://www.fastparts.ie/FP16940
https://www.fastparts.ie/FP16907T
https://www.fastparts.ie/FP16904T
https://www.fastparts.ie/FP16211361R1


PTO Shaft Specifications
AW21, AW35

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 97

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP1635101O AW35 (32x76) 1010mm 1.3/8-6S Overrun Clutch 

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S Wide Angle FP16988 AW21 (27x74.6) 1100mm 1.3/8-6S Shearbolt 1600Nm   

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP1635101F AW35 (32x76) 1010mm 1.3/8-6S Friction 1200Nm 

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16960B AW35 (32x76) 1010mm 1.3/8-6S

1.3/8-6S FP16963B AW35 (32x76) 1210mm 1.3/8-6S

6 6
1.3/8 1.3/8STANDARD SHAFT

https://www.fastparts.ie/FP1635101O
https://www.fastparts.ie/FP16988
https://www.fastparts.ie/FP1635101F
https://www.fastparts.ie/FP16960B
https://www.fastparts.ie/FP16963B


PTO Shaft Specifications
AW35, AW24

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 98

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Tractor Side Part No. Series Length Implement Side

1.3/8-6S Wide Angle FP16995B AW35 (32x76) 1360mm 1.3/8-6S

1.3/8-6S Wide Angle FP16989B* AW35 (32x76) 1410mm 1.3/8-6S

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-21S Wide Angle 1854-7607-136 AW35 (32x76) 1360mm 1.3/8-6S Overrun Clutch 

6
1.3/8 1.3/8

21

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16241011F1 AW24 (34.9x106.3) 1010mm 1.3/8-6S Friction 2000Nm 

1.3/8-6S FP16241011F3 AW24 (34.9x106.3) 1010mm 1.3/4-6S Friction 2000Nm 

6 6
1.3/8 1.3/8 and 1.3/4

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP1635136R AW35 (32x76) 1360mm 1.3/8-6S Radial Pin 1200Nm 

6 6
1.3/8 1.3/8TEDDERS & RAKES

*WELGER BALER

https://www.fastparts.ie/FP16995B
https://www.fastparts.ie/FP16989B
https://www.fastparts.ie/1854-7607-136
https://www.fastparts.ie/FP16241011F1
https://www.fastparts.ie/FP16241011F3
https://www.fastparts.ie/FP1635136R


PTO Shaft Specifications
AW36

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 99

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP1636086HS AW36 (36x89)  860mm  S5 Star Tube

6
1.3/8 HALF SHAFT - NO COVER

61mm

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP1636086IHS AW36 (36x89)  860mm  S4 Star Tube

6
1.3/8 HALF SHAFT - NO COVER

51mm

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16970B AW36 (36x89)  1010mm 1.3/8-21S Pinch Bolt

6 21
1.3/8 1.3/8SUITS JOHN DEERE MOWER

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16967B AW36 (36x89)  1010mm 1.3/8-6S

1.3/8-6S FP16967T AW36 (36x89)  1010mm 1.3/8-6S

6 6
1.3/8 1.3/8STANDARD SHAFT

https://www.fastparts.ie/FP1636086HS
https://www.fastparts.ie/FP1636086IHS
https://www.fastparts.ie/FP16970B
https://www.fastparts.ie/FP16967B
https://www.fastparts.ie/FP16967T


PTO Shaft Specifications
AW36

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 100

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Tractor Side Part No. Series Length Implement Side

1.3/8-21S FP163610121 AW36 (36x89)  1010mm 1.3/8-6S

6
1.3/8 1.3/8

21

Tractor Side Part No. Series Length Implement Side

1.3/8-6S 936-01304 AW36 (36x89)  1010mm Hex 38mm (1.1/2 inch) CBI

6
1.3/8 SUITS JOHN DEERE MOWER

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16361011C1 AW36 (36x89)  1010mm 1.3/8-6S Cam Clutch 2000Nm

6 6
1.3/8 1.3/8SUITS POWER HARROW

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16361011C3 AW36 (36x89)  1010mm 1.3/4 6S Cam Clutch 2000Nm  

6 6
1.3/8 1.3/4SUITS POWER HARROW

https://www.fastparts.ie/FP163610121
https://www.fastparts.ie/936-01304
https://www.fastparts.ie/FP16361011C1
https://www.fastparts.ie/FP16361011C3


PTO Shaft Specifications
AW36

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 101

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16361011O1 AW36 (36x89)  1010mm 1.3/8-6S Overrun 

1.3/8-6S FP16361011OL1 AW36 (36x89)  1010mm 1.3/8-6S LH Overrun 

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S Wide Angle FP16998B AW36 (32x110)  1210mm 1.3/8-6S Wide Angle 

6 6
1.3/8 1.3/8SUITS MOWERS

Tractor Side Part No. Series Length Implement Side

1.3/8-6S Wide Angle FP16997B AW36 (32x110) 1360mm 1.3/8-6S 

6 6
1.3/8 1.3/8           SUITS MOWERS

Tractor Side Part No. Series Length Implement Side

1.3/8-6S Wide Angle 936-80763 AW36/AW35 1360mm AW35 Cross Joint

6
1.3/8

32mm 76mm

BALER UPGRADE

https://www.fastparts.ie/FP16361011O1
https://www.fastparts.ie/FP16361011OL1
https://www.fastparts.ie/FP16998B
https://www.fastparts.ie/FP16997B
https://www.fastparts.ie/936-80763


PTO Shaft Specifications
AB2, AB4

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 102

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16935T AB4 (27x74.6) 860mm 1.3/8-6S

1.3/8-6S FP16927 AB4 (27x74.6) 1010mm 1.3/8-6S

6 6
1.3/8 1.3/8STANDARD SHAFT

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16965B AB2 (23.6x61) 1710mm 1.3/8-6S

6 6
1.3/8 1.3/8SUITS RAKES AND TEDDERS

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16914T AB2 (23.6x61) 610mm 1.3/8-6S

1.3/8-6S FP16915T AB2 (23.6x61) 1010mm 1.3/8-6S

6 6
1.3/8 1.3/8STANDARD SHAFT

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16972T AB4 (27x74.6) 1010mm 1.3/8-6S Shearbolt 1480Nm   

1.3/8-6S FP16972B AB4 (27x74.6) 1160mm 1.3/8-6S Shearbolt 1700Nm

1.3/8-6S FP16973T AB4 (27x74.6) 1360mm 1.3/8-6S Shearbolt 1480Nm   

6 6
1.3/8 1.3/8GRASS TOPPER

https://www.fastparts.ie/FP16935T
https://www.fastparts.ie/FP16927
https://www.fastparts.ie/FP16965B
https://www.fastparts.ie/FP16914T
https://www.fastparts.ie/FP16915T
https://www.fastparts.ie/FP16972T
https://www.fastparts.ie/FP16972B
https://www.fastparts.ie/FP16973T


PTO Shaft Specifications
AB4

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 103

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Tractor Side Part No. Series Length Implement Side

1.3/8-6S Shearbolt 1480Nm   FP16940T AB4 (27x74.6) 1360mm 1.3/8-6S Overrun 

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16905T AB4 (27x74.6) 860mm 1.3/8-6S Friction 1000Nm 

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S Wide Angle FP16990T AB4 (27x74.6) 1010mm 1.3/8-6S

6 6
1.3/8 1.3/8

6
1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S Wide Angle FP16993T AB4 (27x74.6) 1010mm 1.3/8-6S Shearbolt 1700Nm  

6 6
1.3/8 1.3/8

6
1.3/8

https://www.fastparts.ie/FP16940T
https://www.fastparts.ie/FP16905T
https://www.fastparts.ie/FP16990T
https://www.fastparts.ie/FP16993T


PTO Shaft Specifications
AB5

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 104

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16974T AB5 (30.2x79.4) 1360mm 1.3/8-6S Radial Pin 800Nm 

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S Shearbolt 2100Nm FP16982T AB5 (30.2x79.4) 1010mm 1.3/8-6S Overrun

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16976T AB5 (30.2x79.4) 1010mm 1.3/8-6S Shearbolt 2100Nm 

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16975T AB5 (30.2x79.4) 1010mm 1.3/8-6S

6 6
1.3/8 1.3/8STANDARD SHAFT

https://www.fastparts.ie/FP16974T
https://www.fastparts.ie/FP16982T
https://www.fastparts.ie/FP16976T
https://www.fastparts.ie/FP16975T


Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16951T AB6 (30.2x92) 1010mm 1.3/8-6S

1.3/8-6S FP16953T AB6 (30.2x92) 1500mm 1.3/8-6S

6 6
STANDARD SHAFT1.3/8 1.3/8

PTO Shaft Specifications
AB6

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 105

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16977T AB6 (30.2x92) 1010mm 1.3/8-6S Shearbolt 2500Nm

1.3/8-6S FP16978T AB6 (30.2x92) 1360mm 1.3/8-6S Shearbolt 2500Nm

1.3/8-6S 1680-6600-16622 AB6 (30.2x92) 1660mm 1.3/8-6S Shearbolt 2920Nm

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S 1680-6604-15122 AB6 (30.2x92) 1510mm 1.3/4-6S Shearbolt 2920Nm  

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16881B AB6 (30.2x92) 1110mm 1.3/8-6S Overrun 

1.3/8-6S FP16962T AB6 (30.2x92) 1200mm 1.3/8-6S Overrun 

6 6
1.3/8 1.3/8

https://www.fastparts.ie/FP16951T
https://www.fastparts.ie/FP16953T
https://www.fastparts.ie/FP16977T
https://www.fastparts.ie/FP16978T
https://www.fastparts.ie/1680-6600-16622
https://www.fastparts.ie/1680-6604-15122
https://www.fastparts.ie/FP16881B
https://www.fastparts.ie/FP16962T


PTO Shaft Specifications
AB6

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 106

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Tractor Side Part No. Series Length Implement Side

1.3/8-6S Wide Angle FP16994T AB6 (30.2x92) 1000mm 1.3/8-6S Shearbolt 2100Nm  

1.3/8-6S Wide Angle FP16995T AB6 (30.2x92) 1360mm 1.3/8-6S Shearbolt 2500Nm

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S Wide Angle FP16992T AB6 (30.2x92) 1360mm 1.3/8-6S

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S Shearbolt 2500Nm   FP16945T AB6 (30.2x92) 1360mm 1.3/8-6S Overrun 

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16961T AB6 (30.2x92) 1360mm 1.3/8-6S Radial Pin 1200Nm 

6 6
1.3/8 1.3/8

https://www.fastparts.ie/FP16994T
https://www.fastparts.ie/FP16995T
https://www.fastparts.ie/FP16992T
https://www.fastparts.ie/FP16945T
https://www.fastparts.ie/FP16961T


Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16954B AB8 (35x106) 1010mm 1.3/8-6S

1.3/8-6S FP16954T AB8 (35x106) 1010mm 1.3/8-6S

6 6
1.3/8 1.3/8STANDARD SHAFT

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP1681511SB1 AB8 (35x106) 1510mm 1.3/8-6S Shearbolt 3500Nm

1.3/8-6S FP16956T AB8 (35x106) 1360mm 1.3/8-6S Shearbolt 3000Nm

6 6
1.3/8 1.3/8

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 107

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

PTO Shaft Specifications
AB7, AB8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16955T AB8 (35x106) 1500mm 1.3/4-6S Shearbolt 3000Nm

6 6
1.3/8 1.3/4

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP16979T AB7 (30.2x106.3) 1010mm 1.3/8-6S

6
1.3/8 1.3/8

6
SUITS HOWARD ROTAVATORS

https://www.fastparts.ie/FP16954B
https://www.fastparts.ie/FP16954T
https://www.fastparts.ie/FP1681511SB1
https://www.fastparts.ie/FP16956T
https://www.fastparts.ie/FP16955T
https://www.fastparts.ie/FP16979T


PTO Shaft Specifications
AB8

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 108

Original spare part numbers are for reference only. Not intended to be sold as original equipment.

Tractor Side Part No. Series Length Implement Side

1.3/8-6S FP1681011SB4 AB8 (35x106) 1010mm 1.3/4-20S Shearbolt 3500Nm 

1.3/8-6S FP16960T AB8 (35x106) 1200mm 1.3/4-20S Shearbolt 3000Nm  

1.3/8-6S FP1681511SB4 AB8 (35x106) 1510mm 1.3/4-20S Shearbolt 3500Nm 

1.3/8-6S 1680-6841-15124 AB8 (35x106) 1510mm 1.3/4-20S Shearbolt 4180Nm

206
1.3/8 1.3/4

Tractor Side Part No. Series Length Implement Side

1.3/8-6S Shearbolt 2500Nm  FP16959T AB8 (35x106) 1500mm 1.3/8-6S Overrun 

6 6
1.3/8 1.3/8

Tractor Side Part No. Series Length Implement Side

1.3/8-6S 1630-6854-161 AB8 (35x106) 1610mm 1.3/4-6S Overrun  

6 6
1.3/8 1.3/4

https://www.fastparts.ie/FP1681011SB4
https://www.fastparts.ie/FP16960T
https://www.fastparts.ie/FP1681511SB4
https://www.fastparts.ie/1680-6841-15124
https://www.fastparts.ie/FP16959T
https://www.fastparts.ie/1630-6854-161


Part No. Length Series Suits Ring Type Inner Ring Ø (D1) Outer RIng Ø (D2) Bearing Ring Set

FP166021 1360mm AW20
3

50.4mm 50.4mm FP166043

FP166052 1010mm AW35/AW36 63mm 63mm FP166042

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 109

Safety Guards & Bearing Rings

STANDARD COVERS

WIDE ANGLE COVERS

WIDE ANGLE COVERS

Part No. Length
Series 
Suits

Ring 
Type

Inner Ring 
Ø (D1)

Outer RIng 
Ø  (D2)

Wide Angle  
Ring Ø

Bearing Set

FP166040 * 1360mm AW35

3 63mm 63mm

122mm

FP166042FP166045 * 1360mm AW36
128mm

FP166050 ** 1360mm AW36

* Single Wide Angle ** Double Wide Angle

Part No. Length Series Suits Ring Type Inner Ring Ø (D1) Outer Ring Ø  (D2) Bearing Set

FP16908G 800mm AW10 2 40mm 47mm FP16908GB

FP16935G 1360mm AB4
2 54mm 47mm FP5447

FP16904G 1360mm AB4

FP16951G 1000mm AB5/6/7
2 68mm 60mm FP685595

FP16975G 1360mm AB5/6/7

FP16978G 1360mm AB8 2 62mm 72mm FP16978GB

Part No. Length
Series 
Suits

Ring 
Type

Inner Ring 
Ø (D1)

Outer Ring 
Ø  (D2)

Wide Angle  
Ring Ø

Bearing Set

FP16990TG 1010mm AB4 2 54mm 47mm 122mm FP16990TGB

FP16992TG 1360mm AB6 2 68mm 60mm 134mm FP16992TGB

STANDARD COVERS



Part No. Length Series Suits Ring Type Inner Ring Ø (D1) Outer RIng Ø (D2) Bearing Ring Set

904-1000-086
904-1000-101

860mm
1010mm

AB1
3

34mm 40mm 311.101

AW10 41mm 41mm 321.105

904-2500-101
1010mm
1360mm

AB2

3

40mm 46mm 311.2502

AB3 & 4 46mm 53mm 311.2534
904-2500-136 AW 11, 20 & 21 50mm 50mm 321.251

FP16906 1360mm AW20 (Haybob) 50mm 50mm 321.251

904-3500-086 860mm
1360mm

AB5

4

53mm 62mm 311.3505

AW35, 22 62mm 62mm 321.3525
904-3500-136 AB6 & 7 59mm 68mm 311.3567

904-3600-086 860mm
1360mm

AW24 & 36 4 62mm 62mm 321.3525
904-3600-136

904-4500-086 860mm
1360mm

AB8, 9 & 10
4

68mm 80mm 311.45891

904-4500-136 AW26 82mm 82mm 321.4535

Find the parts you need, fast

Click on a product to check the stock and order online

Email: fastparts@farmhand.ie  |  ROI Tel: +353 1 812 9777  |  NI Tel: +44 28 9268 2496 110

Safety Guards & Bearing Rings

Part No. Length Series Suits Ring Type
Inner Ring Ø 

(D1)
Outer Ring Ø  

(D2)
Wide Angle Ring Ø Bearing Set

3100.352136 1360mm
AW35 4 54mm 62mm Incorporated in   

the Guard. 
Not available as       

a spare part

3480.3536

AB6 4 54mm 68mm 968-0607

3100.353136 1360mm
AW36 4 54mm 62mm

3480.3536

914-3300-151* 1510mm 3480.3536

**  Enclosed Style (Bearing Kit NOT Included)* Bucket Style (Bearing Kit Included)

Part No. Length Series Suits Ring Type Inner Ring Ø (D1) Outer Ring Ø  (D2) Wide Angle Ring Ø
Bearing 

Set

3800.25136 * 1360mm
AB4

4 & 3
50mm (4) 50mm (3)

115.4mm
n/a

AW21 50mm (4) 52mm (3) n/a

3800.35136 ** 1360mm
AB6 4 59mm 68mm

120mm
3580.0600

AW35 4 62mm 62mm 3580.0035

3800.36136 ** 1360mm AW36 4 62mm 62mm 126mm 3580.0036

WIDE ANGLE COVERS - EUCV STYLE

WIDE ANGLE COVERS - WWCV STYLE

STANDARD COVERS

(Bearing Kit NOT Included EXCEPT * 914-3300-151)




